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Which of the following is/are correctly matched?

L Hardresin -~  Cocaine

II.  Oleo resin - Canada balsam

III. ' Latex . Rubber

IV.  Alkaloid - Asafoetida

(A) Ionly ‘ ’ (B) II and III

- (C) Ionly (D) IandIV

&éésa;a’n;a.l,rbg@ org)/ eremou eflwimen QUTBSHLD?

L s.an Qélen —  Qerésmuien
IL @dlwur Qrfler — SGLIT UMEFLD
L  GoGuéed -  poud
IV. séseomi@ — - QuERsTwub
A Tw o . ) (B) II wpmo IIT

(€) I wipin - @) T opmi IV

Which one of the follov‘;'ing statement(s) about Blue Green Algae (BGA) is/are not correct? .
(A) They are gram negative-photosynthetic cyanobacteria

(B)  They have survived for about 3 billion years

(C)  Spirulina is the edible form of BGA

(D) Sargassum belongs to BGA

" GeteumeuareuHmIET eTeneu Bl iusbUTSmWE FTyTHemeu? B
Q)  Aymb Opsiye geflEGeransufien BeliLsibums
B) 3 9oelwen BTHSNTS CuUTPEUS) - =

(C) averumellent 2 ewrey AUDEDWE smibg Heorusbuns

D) siersw PoliusbUTE ums®WE ETTHSS -

The chromonema is a coiled structure, which can be easily separated in case of

(A) Paranemic coil (B) Plectonemic coil
(C) Chromonemie coil . (D) Telonemic coil

GGyl TETLIS) @ H(HET HMWLLILTELD. @as aTallgTs L‘ﬂlﬂuug] GTGUTLIG)
Q)  urrelfé smer B) WaraCLnafllé smeT
© @Crrorelds smar - D)  eCoralifs smen
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In 1905, Albert Einstein discovered
(A) . Photoelectric effect and Brownian motion

(B)  Brownian motion and special theory of relativity

Special theory of relativity and photoelectric effect
(D)  Photoelectric effect, special theory relativity and Brownian motion "

1905-6 OURL getmavig 6 ser(H 1y Ssemeu

(A)  gaflblen sfenaray ‘LD'IDQ]L]D YQgeraflen Quissd

(B) WQperafier Quissd Hmbd Apii sy Qaerarens

(©)  Spuy ey Qaratens wHm gaflflen ellemenay

(D) geflilen eleveray, Apiiy sriy Qsretens wHmL FQrarailen Qs

1.  Dynamiclift of aeroplane is based on the principle of Bernoulli’s theorem.
Glass is less elastic than 'rubber. )

3l For a system free from external forces, linear momentum of the system remains
constant :
Which of the above statement is/are wrong?

& (@ only - (B) Both (2) and (3)

©) Gonly - ) (D) Both (1) and (2)

) aflwrand GuGe eripbLieug), Quiarnmeilen CsHnFams 2iiq L@ WTEE QETaT() 2 ares.

2 samammiguien S Aufuwie senenio @riitieny AL Geampey.
3. QeuafiefenssE LLTs @i SiewliGear ChiT 2 g e LHles @D
CuCe g-atem UTESILITIGETIL 6Tl HIEEVEI CTENEG S6UDTEIS)?

@ (@uwipd - B (2) vppid (3) Brandi
©  (3)wifod o @) (1) wpmid (2) @ram@id

A rocket 100 m long at rest starts to move with uniform motion of 0.8 C. What is its length -

" as seen by an observer at rest?

(Aﬂ' 60 cm E .(B) 80 cm
(&) 100 cm @D o -

Heovegd(méEneung 100 m ferd QararrL graCsl, 0.8 C GaussgL e Gm@mGungl @mmu_nrm
umieneuwment Siges BersHlaent eTbs miluums Sieredl Heunm?

(A) 60cm . (B) 80cm

(©) 100 cm . BN
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Which of the following has the highest ionizing power?

(A).

(©)

X-rays (BS) Alpha rays
Beta rays ' . i (D) Gamma rays

\Aetreu (medeneu Hy 6T 678! Llsey D Flawrer Swehuing@d Fner Carar g ?

(A4)
(©

X sdliger (B)  yeour sdlirser

S sdlagear (D) smnon sdiser

Sound waves from a sounding car are

(A)
(©

transverse waves - | (B{7 longitudinal waves

ultrasonic waves . (D) stationary waves

@@Si,{r,gués Qamremmq m&ELL SrfledlHhg) eu D el ena

(A)
(©)

BDIEBG DD . (B) G‘[BI._I_G!DIQ)
Qaeilyenrym gedl Biemavaer : (D) Hlewco ama}-- .

Consider the following statements.

- Assertion (A) : Receptors for steroid hormones are located inside the cells.
Reason (R)

!
®)
©
@)

* through the phospholipid interior of cell membrane.
Both (A) and (R) are t‘rue.and R is the correct explanation of (A)
Both (A) and (R) are true (R) is not a correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

Spsaranid aursHuhisamers seusasHe Gandrs.

(A) #flwde gyarma (R) &l
5

www.mntfreeias.com

Because steroid hormones are lipid soluble molecules that diffuse easily

sapm (A) o evigyria( ennirGurer Gadedlayer ghmé Qardrge.
. &npawrd (R) avlg il enmrGuomer g 615113[5]@ SDOTUSH UG APOSIDEETTES ClETaumLg).
o srafidled umevCUITLIG HEEer Qo seualiomens sLGas suguig
A A WHOILD (R) &fl wpmid (R)greng (A)ée sflwren eflengswom@n
(B) (A wHmibd (R) sflwirengy <penma (R)yrensy (A)eﬁ.,r_b@ Fflwimen eflaTdsiode
© (&) ofl myaric> R) s :
D)
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10. Hormone Gastrin acts as
&1 Stimulates HCl production
- (B) _Caulses-contraction of gall bladd;er
(C)‘ Water and Salt secretion

(D) Stimulate urine elimination

Caeloig fen @_rpﬁﬁémnaﬂeh Geuenawinang

@)  HClepusBeu greimhag

B) GFslmLenw sHEsF Gsicg)

(C)  Brwpmibd 2 Lysemer ssss dalaig)

D)  Apbi QaueiGuibpsdmen sidnGais

11. The transfer RNA (tRNA) carries the activated amino aeid at its
(A) 5 OH terminal _ _ . By  3'CCA terminal
- (C©) Ty Cloop - (- (D) Anticodon end

¥

@Lwronb =i e g (LRNA) opyope g SlGanm stlwsas @sa oluu@dtle aBsss

deadlmg? 7 3 _
(&) 5 OHquefid "~ (B) 3CCA apigefith
(C) Ty Ceusnerey ; (D) %siﬂiq_@aam_rrﬁisr miesit
. [ -
12. . Neisser in 1879 discovered a sexually transmitted disease known as
(A) Syphillis . (B) AIDS

(E{’ Gonorrhoea ' : (D) Hydrocele

1879é Sireven erps Lindefaer Crrulenend sammHiQig S mir?
A Arpduuer T (B)  eniiav
© Qeu_anr Crm . . (D) e appsse B Cerga
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#

How many printing characters are there in ASCII?
(A) 90 ' (B) 65

@) 94 : (D) 62

ASCII erengnyib GempGaneneuuile) erggenem eflGLomam SFFTEGID eT(PSSISHHET 2 aTarTen?
A 90 (B) 65
C 91 D) 62

GIS sta;:lds for

¥7.3Y% Geographic Information System : (B) Global Information System
(C) " Graphical Informatic_)n System (D) Google Information System
GIS erenug :

(A) | yefils sseud penpentd . (B) @Carrud gsatd apennano
(C) SHymYasd gsaud wpenmeno (D)  sn@er sacuD papanLo

is the binary equivalent of (12),,. '

(A) 0001 0010 (Bﬁ 1100
(C) 1101 (D) 1010
(12),, eremugen @)TesrLiq Lome L ————— @b,
(A) 00010010 : (B) 1100

() 1101 - - (D) 1010

The warm current that travels upto Cape Hatteras is known as
(A) Benguella (B) Labrador
(§))  Guif stream : (D)’ Falkland -

CaL1 @bt L7e aueny LisemTi Qe;d)gu‘@ Qeutiu BCymLgden Quuifr ,
(A) GuiigGaer BCrm L ib ’ B) erigri BCym_L1b
(C) s BCrmlLibd - D) Jursembgy FCym b
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‘Match List I and List II and select the correct answer using the codes given below :

()
(b)

(o)

(d)

A)
®)
©)

List I

Pangaea
Panthalassa
Tethys

Wegengr

@ B ©
3 2 1-
4 2 i
2 3 1
2 ‘3 4

o/

viquwie I-2ter ulique II-genen

(d)

sflwrer eilen “u9enen Qg fley Qauwss :

(a)
(b)
(c)
(d.)

(A)
(B)
(C)

:'quuwl
umremghum -
usinge-urr&rr
AsgSen
Gleugdlemrit
() (b) (©)
3 2 1
4 2 1
2 3 1
2 3 4

D)

(d)

List 11
Continental drift
Large land InE.I.SS
Huge ocean

Small seas

Qur@msd, ulguasErsiEs &G o.drar @g{ﬁ@ﬁnﬁlaﬂ@;’ﬁ@'

g uigd 1T
&I ;r;a;r're;{ '

<fls janey Hlevliuri '
@‘l_nﬂ.m &(g)‘é';;‘i_ﬂULb |

Sl sL_dser
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Match List I and List II and select the correct answer from the codes given below the list : |

ListT - © List II :
(Major-Rivers) (Percentage of Basin Area) -
(&) {Ganga 1. 9.8 .
(b) Godavari 2. 11.0 T
(¢) Yamuna 3. 9.5
(d) Indus 4 262

@ ® @ @

(A)” 3 4 1 2
® 1 3 2 4
W@/ 4 3 2 1
D) 2 1 4 3

~

cuflens I-o e aufilens I1- g enem QunmsS EpQarBisan_Rerer sflurer eflan_wienen Ggfey Qais.

cufleng | sufflens IT | : -

(Quflw cﬂq@@ﬂa;d"r) : (pbm QyCse Ly sgeisgsle) _
() sRos : 1. 9.8 ) i
(b)  Gamgras 2 LTI 0
(€  wpener 3 9.5 ‘ )
@  @ps s 4 262 .
L@ B © @
Ay 3 4 1 -
By 1. 3 2 4
(C) 4 3 27 1
O 2. 1 4 3
World’s leading prodt;cer c;f tea is
(A4) Kenya ' (B) Brazil

~(C) China E PV India

2 wdlGaCu =ifls erey Gg,uﬁlmeuemu_:- 2 HugH Geiiybd pr@E
(A)  Qsenum ' . B) GCrae

(C). - fen - ' o D) @pdur

- . . "9 . GS17
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20.  Which of the following year is considered as one of the worst drought year in the last one
hundred years of India? _ ' '
(A) 2000 : (By 2001
@ 2002 (D) 2006

Ghdluireilsr s mim e Baatic e Corswrear aupl & L rs Hmaliuheig ergi? .

(A) 2000 (By 2001
(C) 2002 ) (Dy 2006
21. Match the following minel.;al resources with their reserve places :
‘ List I ' List II
(a} . Bauxite ‘ 1. Singhbhum
(b} Copper 24 Panna
(¢) Diamond 3. Tiruchirappalli -
- (d) Gypsum 4. Bilaspur ’

@ @ @

(A) 4 2 3 1
(B) 3 4 2 1
(C) 3 1 4 A
GO 4 1 9 3

Gemeu(mid H1gl cusnigenar Sieupbler @iy @ rsGarm® Gummsgns :

Ll g I ' © udsge IT
(a) undenal 1. S b
(b) Qeby 2. udnenn
(c)  eneurDd 3.  dm&fyriiuenet
(d) s 4. -+ YeomaviyT
(a) (b) {c) )]
A 4 2 3 1
B 3 4 2 1
€ 3 1 4 2
Dy 4 1 2 3
GS17 10 ' O
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Which inscription referred to “Piyadassi” as the second name for Asoka?
(A) Girnar ) 2 " (B) Bhabru
&) Maski (D). Rummindei

“Quingsl” (LSirﬂu_lg,r'rﬁasﬂ) Gregb G yarLd Guwe GsramEE GHUIHD sdbeul () ag?
(A)  dlienmri - . (B) wmley
© owof. D) HESCsm)

Consider the following about Vedic literatures :
1. . The Brahmanas are the treatises relating to prayer and sacrificial ceremony.

II. 'The Upanishads are philosophical texts deahng with topic hke the soul, the absolute,
the origin of the world and the mysteries of nature

III. The Aranyakas are called country books.

IV. The author of Ramayana was Vedavyas and that. of Mahabharata was Valmiki.

Choose the correct code :

(A) ' 111, III and IV / (B) 1II, IIl and TV only

@] TandII only (D) 1II and IV only

G@Jg, & @lesHImger ug)g‘)] IEI]GGTGLI@LD aamg)@ng) SHeua :
L @Jgg'lurr(a wHmbd Ceuetel ser @@gg, @‘ﬂmesesrma;err Giyroemhisatics gaplia’ Herarer.

II.  syemom, QGpbww, sedla GCarHombd, Kuipensuler |_|:ﬂu_1rrg, yérsar Curenp sgleu

cllensamismend sameg o UblL Shiger.
» .

1IN prl@ Qesdukisd aens S0 LILI 6L RIS EISET,

v. @rynmrrmawgmg,.crgzpﬁmsufr Gmgsﬁu_lrr&r'r, weTLMgEs®ms GubBlueui cureSa wyauf.

sflwreneumenn @g;r'r;is@g,@ :
A) LI I wpmid IV - ) B) 11, IIT womnd IV ul G -

(© 1 wbmbIT wl Go (D) I wpmd IV wi_ @i

11 : GS17
' : [Turn over
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24. ° Match:
() Shutudri ' 1. _ Beas
(b) Vipas ‘ 2. - Ravi
() . Patushni 5 Sutlej
{(d) Asikni 4. Jhelum
{e) _Vitasta . 5. Chenab

Select from the codes given below :

@ ® © @ @ ©

4

R7Y R 1 2 5 4
By 1 4 37 C 48 &
) 2 3 1 4 5

' (D) 4 T~ 2 3 5
Gun@ggﬂ&;;

(a) &;gjgrﬂ. . 1. Qumew
, (b? eflmah 2. gred
() ummege ] 3. FLe0E)
;(d) RENEAE T ‘ 4. Bald
(e) - Ngevsr ' 5. ey

_@ouphsaiembsl gl sllen_emn GanbEgHEsa) D :
@ ® @ @ @

(A) 3 1 2 5 4
@ 1 -2 3 4 5
© 2 3 1 4 5
™ 4 1 2 3 5
Gsiz . 12
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25.  The important site of Harappa was excavated by
{A) R.D. Banerjee ' - " (B) Sir John Marshall

(‘Cﬁ Dayaralm Sahini . (D R.S. Sharma

waSusgeud Gubp G orer anylilirena. speurrmiEs QFugeur
(A &g urerigl o (B) &1 smer wrrage

(C)  swrymb egrablefl (D) yireren. FroT

26. The 23 Tirthankar of Jainism was

(A) Rishabha _ (BJ/ Parsvanath

“(C) Mahavira (D) Ajitanatha

FLOETT afLDLL:J‘é}@GhT 23-aug| SrssmisTT 3
A)  Aagur . (B) LIFTI:FEQJ;_F;[T!&';I:I'
(C)  wawnelgr b (D) =fsprsn
27.  Tamil Isai Sangam was established at Madras by
(A SirRK S}ianmugam Chettiar (BS"F Sir Annamalai Chettiar
' (C)  Sir M.A. Muthaiah Chettiar (D) L.P. Ramanathan Chettiar'
Geenenanie s Qerss shissms 2 (HeuTsdweur
(A) . . 0. Cs. agampsd Geligumt (B) & i@meRTmOEme) QL gt
(C) & erb.er. psagwr Qeligwimt . (D). erev. 8l pmomrsen Q&;’_Lq_u}rrr'r'
! . )
O 13. - . . GS17
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28.

29.

(A)
B/
©
(D)

Dynasty

Khilji dynasty
Delhi sultanate
Mughal empire
Tughlugq dynasty

www.mntfreeias.com

Which one of the following pair is correctly matched?

Name

[brahim Lodi
Qutb-udin Aibak
Akbar

Firozshah Tughlug

Qenaumeuaneunmer sflwing dunmsglin_ L Cmmg e78:?

(A)
(B)

© .

(D)

GULhFD

Saved aubsLd -
QLeved Fegmeiub
Qurasmeuls Gugrs:

GI&EGTS GIDFLD

Guwr
Gugahitn Gevmg.
GELSem g
SNELIIT

HCrragm glsears

Match List I with List I and select the correct answer using the codes given below the lists.

(a)
(b)
(¢}
(d)

(A)
\(B)
()
D)

List I

Kudi Arasu

Revolt
Pagutharivu ,
Modern Rationalist

(a) (b) (©
3 1 2
4 3 2
2 1 4
1 3 2

B R NN

List 1T °

1971
1934
1928
1925

afleng I 2 e eufleng I enw Gummgdl @ﬂmgg@a;@ & Gssrr@a;a;uun__@@rrm Glgn@unﬂlaﬂ@gbgj
sflwmer aﬂmpuﬂmamg, Ggfey Qawis.

()
(b)
(©)
G

A)

suflems 1

Gl HATF
MNGeuman_
L@Ss ey

LTl fem (Sgaemadleni.

(a) (b) ()

3 1 2
3 2
1 4
3 2

R B

(d)

-

cuflens 11
1971
1934
1928

1925

14 ' @]
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Arrange the followmg Mauryan revenue officials in the ascending ordex with the help of the

codes given below :
1. Pradesika ~
2. Sdhanika i . : : .

3. Samharta

4. Rajuka

(A) 4,1,3,2

@ 1,3, 4,2

© 3,1,24 ' .

Y 2,4,1,3

Querflwiirsaflen umaUTLSSIEmD SiFsTismarn CELDG\S!(@;B@-] Ewprs GuiGeaiiar gpad Caiey Qals.

1. QrGsam

2. Gugmen&m

3.  sbaprLnm

4, T Oam

(A) 4,1,3,2

B) 1,3,4,2 '
{C) 3,1,44

D 2,4,1,3

Wh1ch British commander captured the Poligar of Panchalankurlcm Virapandya
Kattabomman and hanged him?

(A) Lt. Maclean ‘ \(B? Méjor;; Ba_nermann-
(C) Col. Agnew (D) Col. Macaulay

s 2mSCow @rramieus serLid, urr@&ﬁsurm@@é;ﬂ LTSS eSTUmaimg W &L Gumbwener

enagliLpm gnadledlLmi?
(A) Qaugenan Gwoseder , (B) Gt ureriGos
(C) asteaned Biderly, (D) sraréd QussrGa

15 : GS17
[Turn over
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32, Choose the correct answer

The Ind1an National Anny crossed the Indo Burma Frontier and planted the National
Tricolour Flag on.

\‘«96]- 19tk March 1944 ) (B) 20t April 1944
(C) 7t June 1945 ' (D) 10tk July 1945
gflwimrest aﬁml_emu_l.(gfg,f@@g,(aa;.

@S Cosflu Eurameud GbSHw—uinn eaamauiensnsd srerg. Hog ppeuter Gamguilaer o bt

BITET
(A) 19 wmE 1944 : (B) 20 guge 1944
(C) 7S 1945 ' ' (D) 10 s9ene> 1945

33. Which of the following is correct?

The unhappiness of the Indian Sepoys at Barrackpore, first surfaced in 1824 because.
L The 47th regiment at Barrackpore was ordered to go to Burma

I1. Caste distinctions and segregations within the regiment

ITI. Recruitment 'of Brahmins were discouraged

IV. Introduction of the Enfield Rifle

@\ I PN, () 1land 11T (D) Tl and IV

EpEhUAL L measeafid silunerg erg:?

N ﬁuunu_lemﬂm &Engn@%Lﬂmmm 1824w %m(@ ul]esgrﬂeu psen ng)@ﬂeu g@surrsmél,r_r)@
STEuTLD.

L uréflen 47-augy Gfley rrageud ufrmrr.aﬂg')@ dede o gapeil Ll gl
II. premiel’ Mfless@geanGer erdl Lm@UT{H wDHOID g,aﬂammu@gfsgsi)

II.  Ygowerisear Gaiey Qeiicudld eass fatans

IV.  aanSor gruunsd Sipdu@ssd

@w 1 - (B) 1I (€ IMwpgo Il D) I osgd IV
GS17 h 6 : o
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34. Who among the following described the Indian princes as helpers and colleagues in the task
of Imperial rule? . .
(A). Lord Mayo (B) Lord R1pon
Lord Hardmge I1 N (D) Lord Wavel

& Qar@asiul L eurseafld, @b wearantser Gj“asrré]ug,‘é,\uj c‘?__],L_ﬁﬁ@ ag‘,mu@.lrrasm HILD @g,r@]su&
GampraeT eresnm s Hlweurt wri?

() GuCwr Gry - (B) rﬂuum Sy
(C) @uerrLmb apmigmi Sy (D) Geueued iy

35. From the following graph which of the. following years was the ratio of Income to
expenditure the minimum.

704
60
50 -
40
30
20 4
101

_ Percent profit

1995 1996 1997 1998 1999 © 2000

@) 199%6 ' - @ 1995
- (€) 1998 - A (D) 2000

Epsam cumpuL 8\ BHS), GmpBEULE aiauni-Qewdien efldlssame 2 L1 aubLLD g7

70 A
60
50 1
40
301
204 )
104 .

@eru sg,a-ﬁgm

1995 1996 1997 1998 1999 2000

@) 1996 - . ®) 1995
() 1998 (D) 2000

o _ | 17 _ B 3
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36.

- (O

(Ay 45 (B 40
©C 20 (D) 10
The mean of first five prime numbers is
&) 5.0 (B) 4.5
@)": 5.6 ' (D) 6:5 i
Q;pg,e-b 5 LIET cTaimset 6t s (pEsymefl ‘
Ay 5.0 (B) 4.5
(C) 586 6.5

38.

39.

]

The mean of b observation is 25, if one of the observation is excluded the mean becomes 20.
The excluded number is

A 45

20

www.mntfreeias.com

(B)
D)

40
10

5 cramaailen gl Qegred 25, seubhelmbg f aanmamen Gédamed eundlar s Heemmsf 20
erestley, HadsLi 1 eTemr

D)

If ‘1’ is the standard deviation of the elements «, ﬂ v . Then the standard deviation of the
elements @ + 3, f+ 38, ¥y + 8 is : -

@A 1+3
©N 1

1-3
31

(B)
(D)

a, B,y -en fli aflevgasn ‘I
A I1+3
(8] l

-arafle @ + 8, B + 3, ¥y + 3-an Hleflawsab
® 1-3
(D) 3!

v

If the arithmetic mean of 7, 5', 13, x and a be 10, then the value of x is
(A) 10 @) 16
) 12 . D) 15

7,5, 13, x whmd a wdweupian egrefl 10 erafled x @ét WAL HTRTS.

"GS17

(A)
(©)

10
12

16 .
15

(B)
(D)

18
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27P-34Q .

Ii:'gf%then 36P—3Q is

@w | ®) 13-1%-
& 2= ' oo 2
Pl 0y

@ | ® ==
() _725 (D) 2;.

In 2013, the population of a town is 1,25,000. If it is 1ncreased by 7% in the next year Find
the pOpulatmn in 2014

. (A) 8750 . @j7 1,33,750

©€) 1,16,250 (D) 1,25,000

©

- 2013-@év, @@ BETSSET Esa@grens 1,25, 000 <S5 %mq@ <5 7% Cu@m@breaTe,

2014 gev ma;&sm@g,rrem;smu_la; EMHTE.
(A) 8750 B) 133,750 -
(Cy 1,16,250 ’ ~ (D) 1,25,000 .

Salaries of Ravish and Sumita are in the ratio 2:3. If the salary of each is 1ncreased by
Rs. 4,000, the new ratio becomes 40:57. What is Sumita’s present salary?

(A) Rs. 32,000 (B)  Rs. 34,000 -
Y7 Rs. 38,000 (D) Rs. 40,000

refey wHmb sblgTalen saflu AL 2: 3. @eutlamheui 2adluisaid ap. 4,000 iflaflgsme, Lw
pardls eflflgib 40:57 erafled, mllgrallen HCuTeng L 2B wingl?
(A) . 32,000 : (B) em. 34,000
(©)» @ 38,000 D). 5. 40,000

~ Which is largest in 28%, 2.8%, % and 0.25?

ofl 28% _ (B 2.8%
© % o (D) 0.25

28%, 2.8%, %, 0.25 - Qeupdle erg) Guflwg? .
(A) .28% . : B) 2.8%

(O % : (D) 025
19 ' GS17
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A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a cow then the
ratio of cost of horse and cow is

& 75 ®B) 57
©. 89 L (D) 9:8

@ GHer wHmID .@Umﬁn@ wr@saflen Lorgs eflena . 680. e G slmaurag o
Wiy e eflenaenw AL ¢m. 80 sidsib erafld) GFer wHmb Wi ig.er efleevufiar ciflgloneng

A TH . B) 57

T

- {O) 8:9 ) (D) 9:8

45.

i of E of % of a number is 54. Then the number is

-

(A) 280 : @j 300

. (©) 320 - . D) 350

46.

T 47,

GS17

) e % Lk -g— Lrkdled % LiETEIg 54 Su@h. ereld Bibs erareammeng)

(A) 280 - | - (B) 300

(C) 320 : (D) 350
9 B
IfA:le:i, B:C=—5-:—7-—, C:D=:'—:~—5—- then A:B:C:D is
9 6 12 7 14 :
(A 40:28:35:30 © B))  30:40:28:35
(C) 28:30:40:35 ~ ' (D) 35:30:28:40
1 4 7 SAUE AR
A:B=—:—, B:C=—r— D=—:— gaflé®o A:B:C:D
39’ g1z’ O D =7iqy e 28l
(A)  40:28:35:30 Y L .| r (B)  30:40:28:35
(C) 28:30

:40:35 (D) 35:30:;28:40 .

If (3x+2y): (3x—2y)=5:2. Then x:¥ is ; ‘

A 52 . : @) 149
e 914 - (D) 25

’(3x+2y):(3x—2y)=5:2 aafld x:y s

(A) 52 ) (B) 1:4:9
© 914 ‘ D) - 2:5

20 o O
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A rectangular carpet has an area of 60 sq.m. Its diagonal and longer side together equal
5 times the shorter side. The length of the carpet is

(A 5m LBJ") 12 m

(C) 13m o (D) -145m

e Qecueus seny eNfGer urliLerey 60 5. éqg,m Bemomen LiGgHub, @,oema)a‘ih_l_@pm @ansmgagj
Gndl ugdullsr 5 (DL Sieellh@ S eTeiled, any aflfiviGen Bembd u_srr@’)

(A) 518 : @) 128 .

(C) 1348 _' (D) 14548

The number of small cubes with edge 10 cm that can be accommodated in a cubical box of
edge 1 m is :

A4 10 - (B) 100

@n w00 o i (D) 10000 :

1 & uas s@mey o drer e;smargjlr Gul_xq_uﬂ]w agsmar 10 Qs.§ LEs Sierayerer essur&g,n;rr&:a;a)m

Gmus;&eurrm?
< (A) 10 y (By 100

(C) 1000 ' (D) 10000

The diameter of a sphere is 6 cm. It is melted and drawn into a wire of diameter 2 mm. The
length of the wire is

A 12m : : (B) 18m

€7 36m ‘ : . (D) 66m

@ Caraigden ellLib 6 Qa.b. ‘gman o mad, 2 W8 HilLh Qsramn  sbGwrs Lnn:si)Lf)]mrrd),
SipF& sLGuGlen Hemd wing?

(A) 128 o/ (B) 1815, _

© 368 - _ D) 668 ‘

A uniform circular path of width 4 m is laid out around a circular park of radius 48 m. Find
the area of the circular path :

)7 1256 m? (B) 1255 m?

(C) 400 m? - (D) 1254 m?.

48 18 eyyonas Qe UL aJL;raJL'_I 5@5%&6& Glé_ls!ﬂl_’lqg)gﬁ@ 4 1§ sisas58d &wé@mfm

;suLLuunmg SADESUIUGADS]. SALUT@SUDET LTI STaRTs.
(A) 1256 & - (B) 1255&°.
(C) 4008 - _ (D) 1254 8

21 - ' : GS17
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52. If B=2, BALL = 27 then BOOK = ?
'(A) 40 (B) 41
© 42 . | @ 43

B =2 wpmib BALL = 27 arefiés BOOK = ? _
(A) 40 . . (B) 4l

(C) 42 . ' D) 43-. -
53. Find the missing number : '
3 9
|1 par| 6
9 7114 | g
9 4
A 10 : ; - B 9

wjl 8 ' _ D 7

GBI L. cTeRTenemTé: STamms ;

14

o | 7 .
9 | 4
A) 10 ' ® 9
© 8 - K : D) 7
Gsiz _, 22
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Three views of a cube are given below. What is the letter opposite to A?

“f v - ® P

(C

B D)y M

) san sginsHen peng efgwren Ganpphmser G Cerssiu_(Hdtang creafld, A-ufesr e
L&SSE0 2 6Ter er(YSS 6HI? .

e

%

H o . - NI

(A)
<€ B e D)y M
If
(1) Rama scored more than Rani
(2) Rani scored less than Rathna
(3) Rathna scored more than Rama and .
4 ) Ramya scored more than Rama but less t;ha'n Rathna then who scored the highest?
(A) Rama ( ' ~ (B)  Rani
(Oﬂ _ Rathna ' _ ‘ (D) Ramya
FLom ereLeuir preaflenis el oifé wduGuear QuporT.
(2) gresfl sremueuT f@TEne L @enmeurer HIGQLIGRT AUDDTT.
(3) TSET eremLIGUT Fomeneu el 2idls wHuGue Quppm.
@ " b eremLicuiT qomenay eflL sifswrsed FEemTaeu Q-EDL_ G@peursab wHLGLaT AuporT
arafied, @@ fls wHUEuer eurhidlueui wri?
@A) o : : B) yreef)
(C) gden o D) mbwr
23 GS17
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96. If8—56x4=44and 156-3x3=48then 16 -4 x5=7

A 0 3 69
© 20 D) 25

8—5x4=44 ohmyb 15~ 3 x 3 =48 erafleh 16 — 4 x 5 =7
A) 0 _ (B) 69
© 20 (D) 25

57. Find the next diagram :

gg s = EP . 2/

.o - o

@ , ®), &

(©) P (D) o ©
N+

2B u_ddlanen FaHGlg. :

’
X
(o] e]
[a lw)
.e
.e
e
~

(A) o _ B

©) ° (D)

GS17 - 24
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‘Which is the strongest acid? ' )
(&) HCOOH : (B) CH,COOH
©  C,H,CO0H : (D) C,H,COOH

Spgaem_eunie eiflwdlgbs sile erg? . :
(A) HCOOH | (B) CH,COOH
(¢y C,H,COO0H E D) C,H,CO0H

For a cell reaction
A(S) + 2B = A +2B
the equilibrium constant is found to be 10'?. Then the E, value is

& 0354V (B)  0.708 V
©) 0.0295V D) 0.177V

Epsaerre leaa eflanarulen
A@S) + 2B = A% 42B
soflene wmiled 10" arenflen, sigen E ) wal eremen?

(A) 0354V - (B) 0708V
Gy  0.0295V ) D) 0177V

The specific conductance of a 0.01 M solution of KCI is 1.4 x 10-3 chm-! ecm-! at 298 K. Its
equivalent conductance is (ohm~! cm?equt-1).

(A) 0.14 . - (B) 140
(©) 140 @) 140

0.01 M KCI senrsailar Hlwio aat_g,gjg,‘ac,lgpem 298 K-u9e 1.4 x 10-3 @Ln "Qs8 T arefler, GEsamysaSien -
soren sL_ggigHmer wliy (ochm cm? equt?) ' ;

Ay  0.14 (B) 1.40
(C) 14.0 (D) 140

The compound is used as rocket propellant
&) Hydrazine (B) Nitric acid
(C) Ammonia (D) Nitrogen

- praEQal erflQummer Lwem g H@ e uGuirdldsiudin Qurer

l (A) - eepgeder . - - o (B). ' anpflE @ifeoid

(©) @{G.Lnfrasﬂmrr. . ' ' (D) enplrmen

25 . ' GS17
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62. The main thruét of the Industrial Policy Statement 1977 was to
(A) Promote large scale industries
-+ fB¥- Develop basic industries
y -(6()’ Encourage small scale ana cottage industries

(D)  Encourage agriculture-and allied activities

| 1977y e @S Asmfie Qendrersudcs smGireds Qe s by
() Gurerey Asmdle Bpaueismar GobLE S

(B) gl Gsnfasnsest (penarhmeusg

(€)  Alu wdmib @uoss Cemflasmear imés@eﬁ]uu@

(D)  Geuarmesr whHmith sTiHE HL6ulq HENHHENET Daré @6l LIL1IS;

63. Governmént of India introduced the Sarva Shiksha Abhiyan (55A) in the year

'(A) 2001-02 ; (BY 2002-03
{0)  2003-04 (D) 2004-05

eeelHE@EHD sl (e Aiagm snQwrer-SSA) erenp SL s @(rf);ﬂu_lrraﬁla) Siflapsid Geuis

2@ (H
(A)  2001-02 . (B) 2002-03
(©)  2003-04 (D)  2004-05

64.  Till in the blanks

- India has been recognised as the : country in the world to officially adopt-

Family Planning Programme in .
(A)  First, 1950 ‘ (B) Second, 1952
{0)| ' First, 1952 ; (D) Second, 1951
aredludl_migener Blrliys.
o@s  prihselld  GbHwur ——————  WEFST  pasdlises ———— e
B (penniuRSSwug. ' S . '
(A) I(_';P,#I)GUFTGUQSI'I'SS, 1950 - (B)  @yem_reugrs, 1952
(C)  wpserasts, 1952 (D). @rav_rsugns, 1951

GS17 : 26 o | -, 0
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Consider the following statements. . o
Assertion (A) : Soﬂ erosion 1s essentially a man-made phenomenon

Reason (R) : Soil erosion is caused due to deforestation, overgrazing, shifting
cultivation and improperly constructed terrace outlets.

@(9 Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B)  DBoth (A) and (R) are individually true but (R) is not a conect explanation of (A)
(C)  (A)is true but (R) is false

(D) (A) is false but (R) is true

Spsananb cunsdlukismen sauasdd Garans.

smpm (A) : went Hfluurerg weflgemnme :D_(_rD@Jrra;a;uu@Lo Seudluwrer ol _ss568
. ,I-—F)]g’@@'l . L -
smpaero (R) - . wewr yfllurerg sroflgsd, oidls Searelonar sropan. Gldse,

T BLuQuurey  Geuemmeiments  mpMId  @p@DWTs:  SULULILTEG  Sligl
Sleniolisefe e arer Bir QeuallCupmid.

(A) (A wpgd (R) @qw@(ﬁm g, Gogyd (R) eremmiig (A) aﬁ]gp@ gflwmes Gﬁlerrasaaus
(B) (A) g (R) @Uam@m afl, GLD@;]LD (R) eraruigy (A) flpg acrﬂu_lrrso'r eSler&sLneban
(C) (A) &Ml gemmed (R) seum :

(D) (A) geum pened (R) afl -

The Insurance Regulatory and Development Authority (IRDA) Act was passed in the year

(A) 1986 . - (B 1991 °

(G771 1999 D) ‘)OO."

srUlSE panlUSSsD wHmID euariés cgg{,mgmm (IRDA) & i @mmg@uupg %W@
(A) 1986 (B) 1991.

©) 1999 : (D) 2005

RBI launched the Market Stabilisation Scheme (MSS) in 2004

(A) for the sale and purchasé of Indian Currency : i
B)! as an additional channel to'l mop up liquidity

(C) to fix the rate of interest at the lower level

(D)  tocontrol the general price level )

2004-e spengeniu Hlenawlin(Rsgib S L gdlener GnShw Meteu euridl gleoumdlug)
(A) '.@ﬁ@m—gnmmgmg euMiga, edlHuienar QFdious D@L
(B) Brenng senenwufienes sMGFIIHDHETT (5 SIS ILITET DOTL_HDME
©) ely cizsms @G;ﬁ)ﬂ)‘l'_i’)g; Hanevuled Sromedl LILgHETE
(D)  Qung eflena Hlanaullenen & HULESHIUSHETS )
27 . GS17
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The Expert Group to review the methodology for the estimation of poverty in India in the
vear 2009 was headed by

(A) V.M. Dandekar (B) L.R.Jain

(C)  Martin Ravillion @) 8.D. Tendulkar

2009-1b syewrgan @hdwreder cumenweniy wHIEH Feingb Asdpamnepw ey Qalwb Gup
@leurg (&)Gm'enmmuﬂ@ SOHSH , )
(A et ILranGLar (B)  eréb.=ym. Clagullen

(C)  mwingem reumsdlwiesm (D) ere.ig. QLamBievaT

Expenditure tax in India was introduced by
&) T.T. Krishnamachari (B) C. Rajagopalachari
(C) Yashwant Sinha | (DY R, Venkatraman

@g_ﬁgﬁ]mn@ﬂ@v Qaawa) cufl Galyred siflapad Qe g
(A)  q.1q. Smeyemorgsmt - B) & @urinGarurerssmil
(C) wegeups Henapr (D) <=yit. GeumkisL_rroes

Consider the following statement :

Assertion (A) According to the New Economic Policy Globalisation is considered as
an instrument of growth.

Reason (R) e Globaligation increases the cost of trénsport and communication.

Which 1s the correct answer?

) (A)is correct but (R) 1s wrong

By (A)is wrong but (R) is correct

(C) Both (A) and (R) are wrong g

(D)  (A) and (R) are correct and (R) is not the correct explanation of (A)

’

Epsgein_ cunddluibisener seue :

spm (A) - bl Gummenrarrs Carerensiiiy. 2 OSWIDTHE eUeTTEF&aETar @ SHetlLTES
SHSILOEDS.
grenTd (R): g_euaamu;zmrrg,eb Cund@eurdg  wHmb  dgrene  Gam ryssren  Gawenas
' - =glaflading. —
@eupmier sflwirer eSleni— et ?

A) W) sflurang yenmed (R) geumnengmgh

(B) (A sawpreng) semman (R) FRlUTESTED

(©) A wombd (R) @rae(Hind seuprenana

D) A wpmd (R) Grar (i sflwureraneu opmits (R)- (A)sanen sfluimet efleardaid s

28 O
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The special Economic Zones Act was enacted in Feb. 2006. Identify which is not the
objective of the SEZ?
(A)  Generation of additional economic activity
(B(), Promotion of import
(C)  Creation of employment opportunities

(D)  Development of infrastructure facilities

Qdgeufl 20064 e Aplyl GurmerTgny wem_b GHlss s b @uHniul g Qeuhdier
GDISECETET GTGIGUEIE GTEH LGNS SHEHLITEILD Sireisr.

(A)  sm(pgeorer QUTNRHETTSTT HL UG SDESET O_(HEUNSHEeUs)

B) Arsgodaw exsEefiug

(C) Gauena qumiliant) 2 (HeUTSHEGeUg

(D) s (wrer ausslsamer 2 (HeuTs@Geugl

Consider the Statement and Reason, choose the correct answer from the codes given below.
Assertion (A) : The Ratnakar Bank is referred to as NH4 Bank in the banking circles.

Reason (R) : Majority of the business of the Bank comes from cities in and around NH4,
which connects 10 popular cities.

.(AQ Both (A) and (R) are correct. (R) is the correct explanation of (A)
(B) ° (A)is true (R) is false

(C) (A)is true, (R) is not the correct explanation of (A)

(D) Both (A) and (R} are false

ECyp CanBsasiu (erer HhsgHmeda, argawbd, elarsssms pla@sig, Gar@esuulHdrer
GHSEaafelmbs sflwmen eflen_amw Gsiay Qed.
&mag (A) Tauidl el Lrpsdler ‘gHemmaT eumdlenws’ ‘prenamb GnHEeETane
ouriidl e uenLpEHElemmeRniT.
arpenrd (R): Qeueuduller  CQu@pburerar  aufgssn, GHEEH EFTmaUldD
2 aran, wasaTdgTans NGhs 10 parmisatas CuptardreriiiGdng.
(A)y (A wpmd (R) @uaerdid &fl, (A) efen eflwnar aflenésid (R) g,@h
B) (A A R) saup
(©) . (A) #A panmed (A)-e90@ (R) sfwmen sferéasid 2ichev
D) (&) vppd (R) @ranr@Guo saun
29 ' GS17
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Which of the following is not a method of soil conservation?
(A) afforestation ‘ (B) . increasing the size of particles

(C)  slowing down of the water movement QB')/) applying fertilizers reéulérly

Semeu heuaneu Hbld e urr@a;rrés@fo‘ (LPENID B(EIEV 6TE?
(A)  st(hsener UETTSS6E '

(B) ek gscnsatlen enellenar DiFalUG S S0
(€ @b b Cousgans Gammndse

(D)  Qsm_réfluins 2 yhisaner @ e

The enzyme discovered by CSIR to increase shelf life of fruits and vegetables is
(A)  kinase super oxidase ' ABY  ethyl gluconase .
(C)  phenyl aldolase’ (D) super oxide dismutase

* gaflser wDOID STl cuenaseian LEug g,ah%mmmu_l Blads £.erev.en. oL Hmieuenssma senrLMluiul L

GS17

Cprd
(A)  esCarsv GUUT psaliGLey (B) adlé gerCarCaren -
©)  Sevanes dCLrGowad (D) GOLF pE@a() g eobiGLe
Who is the 40t Chief Justice of India? ) :
(A Justice Sathasivam (B} dJustice Altamas Kabir
(C)  Justice Markandey Katju (D) dJustice Lodha

@ngwreler ErougTe.g) o Febdneam Fanaeno HELE wrr?

(A BHwysi sgrdeud (B) BHwgst s omen s
(5] ﬁﬁu_lrj&r'r- wiaen(GL &l smn® (D) Bdlwrer Cangr

Which of the following countries in late 2013 gave approval to commercial release of
Bt-Brinjal? '

€4)| Bangladesh (B) Mexico
(C) France . . (D) Sweden .

Spsaar pripsailey erbs B 201-3%1__0 spa@maan 19puGHde Bt--ssHNssmulen ey
fdhwimer Qeuafluil o H@ eUUSe aupmidliig?

(A)  aursner G ‘ (B)  GuiadCsn

(C)  Slgmenen _ D) evelien

30 O
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How many times has Rafeal Nadal of Spain Won the French Open Tenms tournament to
break the record?

(A) 7 times {B) 8 times
(7] 9 times (D) 10 times

euGLufler s gmie prié Gres eliver Canafay eflenerwm’ G Gurliyuida egsenean (pann
Gleuemmy srgenatantl (PHIwig SSTT?

A Topeop _ (B) 8wep

©  Swop (D) 10 qpenp

Who among the following have won thg National M.S. Subbulakshmi Award 20147
w Mathangi Sathyamurthy (B) KPAC Lalitha
(C) Sai Kumar : ‘ (D) Sujatha

Spaar_cuis@Eher wirir Caflw erib.erav. sLiLjeenll 2014 afl(ma Qeusmmprir?
Q) wigadl ssHuapissl (B) KPAC avellgim
(C) - emlworm (D) smrgm

Name the scientist/organisation who successfully converted plastic shopping bag into diesel,
natural gas and other useful Petroleum products

(A) Ahmed Khan (B) Prof. Angela Vincent
@@ Birendra Kumar Sharma (D) Bose Institute

suanile: Gaeligé muUsmeT &, Gunens aumy wHn Gy uweyder Gul Crrallu oy E@unmarTs
QeunBlarors wrpdlu efesesrall/ Bnauamsdear Qi H@Hes

(A)  swg sren (BY Gupn. g@pger eflanGlsem_

(©)  OCypHy omt smom (D)  CGumev Himeuemb

Who received Dada Saheb Phalke Award 20137
(}6-7 Sampooran Singh Kalra (B) Vijay Seshadri
(C}  Pran Sikand (D) Ramesh Agarwal

s srahil urawGs eflmg 2013 QupHp FUT wWTT?
(A)  sbygen Sk s (B) eflgs Gagarev i
(C) uyen Asp (D) rCuweéy iafraund
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81. . Match the following : o .

Paintings ) States KK
(a) Kalam Kari 1.  Andhra Pradesh
(b) Madhu bani 2. Bihar
. (c) Phad 3. Rajasthan
(@) Warli 4.  Maharashtra
(a) (b) (c) (d)
(A),\ 1 .3 2 4
W) 1 2 3 4
(Cy 1 2 4 3
@ 2 1 4 3
QuI(BSES : . . - - £
leﬂgﬁm&a;eh , OTHlevEISHET
(a) sambsrd 1. < bl iﬁ]l;rCSg,ELb
(b) - wg) Le 2. SETT
() wul 3. JIEQe Eren
(d) eummell 4. LOGITIJ T idple} [T
@ ® @ @
A 1 3 2 4
®) 1 2 3 4
© 1 2 4 DG '
Dy 2 1 ‘M 3
82. Which is incorrect pair?
(A) ' Saurav Ghosal — Squash | - t8) ' Malavath Purna — Archery
(C) Heena Sidhu — Shooting ) (D) Chhanda Gayen — Mountainéer
seuprer @anemaniis CETHEs®H : -
(A) . seuTel Garge — e e e (B) mrrsorraj.rrg L ey — aﬁle‘n 1A THTHIT: T3
(C)y  ablent gy — yLUTES s(HS60 (D) snsr Cabwer — wanaGuLImsad
GS17 - 32
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Arrange the peaks of Trans-Himalaya region in descending order :
Kz — Hidden — Rakaposhi — Haramosh

(B) Hidden — Rakaposhi — K:— Haramosh

(C) K2— Rakaposhi — Hidden — Haramosh

(D) K:- Hidden — Haramosh — Rakaposhi

g yretTen @ T 2 arar Harhismer GnEi@Gaufamsuie eflans LS8 :
(A Ko~ afl en~ prsGund - apmiGomes

(B) aflien— graGurdl — K2 — anriGuones

€ Ko—praGurd — aubl_etr — aupmirGLomay

D) K- ablien— ‘a_.rr)r‘r@mﬂ‘siq, - gresGuré

Of the following who is not related to “Chipko Movement”?
(A)  Sunderlal Bahuguna ' (87 M.S.Swaminathan
(C) Chandi Prasad Bhatt (D) Gaura Devi

Aeneumueumer “FALCET Gussn” GigaiL ean Qem_mleeamsem wmi?
(A) spsTamd UG EGETT (B) enb.areh. seumillibrae
(C)  &pd Gyeng um’ : . D)  sayrr Cxel

Sumitra Mahajmi is associated with the post of as on June 2014
(A) ' Lok Sabha Deputy Speaker ‘ (B) - Rajya Sabha Speaker
Lok Sabha Speaker o (D) Minister of External affairs

gran 2014 BloaipiiLig &BSHT osmen @bl Ligeluienar audgs UIBE T
(A)  Gend sum genes sURBIW ST (B) grRw sur sUMBTMLST
(C) = Gard sum sLTBIWST D) OQevellymeys gD ST

"Which one of the following is NOT a National Symbol?

(A)  Mango Fruit . . (B) Dolphin
(C) Lotus ' (D Coconut Tree

&Qé;a;sﬁﬁrl_supjgjd'r argl Caflw eﬂainea.rLb @@@@?
(A)  wmbupd (B)  LménSlenm

(C)  grideny : R .- (D) Ggemener wiyd

The Silent Valley National Park is located at which district of Kerala?
(A) Idukki . . B! Palakkad
(C) Kottayam . (D) Wayanad

Garermelle eThg meu L S8ld sienwd LeTerggnde CaAWL WhisT Sembbgiareng?

A Qoss B) ura&sTd -
)y  CGamlrwbd : o D) awsr®
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88.  Arrange in descending order of 2011 Child Sex Ratio in India.
‘(d’(ﬂ - Chattisgarh — Kerala — Asom — West Bengal
(B)  West Bengal — Asom — Kerala — Chattisgarh
" (C)  Chattisgarh — Asom — Kerala — West Bengal
D) - West Bengal - Asom — Chattisgarh — Kerala -

' @‘cﬁéjmneﬁ]aﬂ 2011 sewréE@s@HL e Lilg @%erj‘;@ng,a;‘aﬂeb Lineflen sldiggens  @mrigeufeanaudier
S L aienemIu HSS)5. ' )
(A)  ssdevam — Cayent — GFTb — ComE cukisTerd
B) Guie auimarard — GeTbd — Cayenr — sgblevat
(©C)  ssflevat— 2Gamb — Cagerr — GCopnE SURISTETD

(D) Cubhe QurRIETETD — B CELD sdlevar — Camremm

89. Match the following and choose the correct answer :
Books ' 4 Aﬁthors
{(a) Gold Finch
(h)- '3 sections )
() Anticipating India
(d) Capital Wars

Daniel Pinto
Vijay Seshadri
Shekar Gupta- -
Donna Tartt

2 il

(a) (b) (c) (d)

a 1 . 2 3 1
g1 | 3 4 2
@/ 4 2 3 1
D)y 1 2 4 3
Spaaacupern Qurmsd, silurer dllenL_bameans Coray Geis |
LgssmseT ; _ Sfluirser,
(@) Carér Gené L CLeflwe @G
(b) 3 Qssagenav 2. eflgul Cagsmevu i
(e el AuGuilg i @Ewr 3. Gosi @ugn
(d)  CGsilbl dr suren ' 4, Gurretmemm LT
(a) (b) ©y (@
A) 1 2 3 4
B 1 3 4 -2
Cc 4 2 3 - 1
® 1 2 4 3
GS17 _ . 34 - .
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Consider the following statements :

1, There are 25 High Courts in India

2. Punjab, Halyana and the Union Territory of C‘handlgarh hayve a common ngh Court
3. Natxon‘al Capital Territory of Delhi has a High Court of its own

Which of the statements given above is/are correct?

(.Ab’) 2 and 3 . . (BY 1and?2

f

(Cy 1,2and3 - - (D) 3only

Sipaain. anDmiEeear SMmEHL Qameratayib.

1. @pdluireileh 25 aﬁmnﬁglmsﬂg)rmasm 2_GTea.

2., ugsem, @prﬂu_arrcmrr HDID Fewrig.sii oL dlLenel GUmg e e &u.xrrﬁé]mmmgymg, Qesrreu;r@mmm
3. Caflw senapaT GLde gansbaear e e wrEiinammsans Clamem(Hereng) i
Gupaar_aubhiia arénay il mengl? ‘

(A 2wpmb3 ( (B) lwpmwb 2

€ 1, 2wppn3 : Gy

T

Considering the following statements about the Attorney-General of India.
1. He is appointed by the President of India . .

2.. He must have the same qualifications as are required for a judge of the Supreme
Court _

3. He must be a member of either house of parliament

4, He can be removed by impeachment by parliament

Which of these statements are correct? >

&) land2 . - . (B).land3

(© 2 3and4 ) (D) 3and4

BpHwus sl sgiemn gaaeaiery upHlL supap s barararayib.
L' Gpdu Gyurss seoeeirted Bluifisstu@inmr

T2, aaaﬁglmmm [ WAL Gg,«sa)suu_;rrem SEHenw @ug)gn B)més Casam(Hid

3. UG TighLosmmaESlen Gim éqwsuaamﬂeb gCaand @Giﬁgﬂsb o mitSemrs &) mss Ceusmr(Hid
4. GDDESTL (6T apaid urrr;rr@mc@rg)g,g,rreu ug,cafﬂ Baad Glewius upig b

@eunidicr afwimrer sapmy eTa:?
‘(A 1wHmbd2 . . ) B) lwomb3
(€©) 2, 3whmib4d o D) 3 wpm 4 - -
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92. The Parliament consists of
éA) - Lok Sabha and Rajya Sabha -~ y
| @/I The Pre31dent Lok Sabha and Rajya Sabha
(C) Lok Sabha, Council of Ministers and Rajya Sabha
(D) Lok Sabha, Rajya Sabha and Vice-President

LINTMEHLOE0 MID CTETLIg)

(A)  &psers HmIb Coavsamu

B) gardud. Epsmu whHmb Codeamu

©) &ipsenys, gElw BrewFsrana HOID GodFenL

(D) &peeors, Codsanus pmid gienant el

93. Who is the real executive in a state?
(A)  Governor
(B)  The Speaker
{3 ~ The Chief Minister .
QDﬁ The Chief Minister and the Council of Ministers

(1 mnﬁmggﬁ]m o EHTER LD TET %LQ@@]G&}{D cﬂqé]a;rrrﬂ WIS ?
© (A EmpT I B

B) sumprwer

(C) qpsaa@wast

(D)  (pE@mWLFFBD SeUHELIL S|@OFSFTHEULLD

94. Comptroller and Auditor General is appointed by the
€] President
(B)  Vice-President °
(C) Rajya Sabha
(D) Lok Sabha

. BEEEDE aseazms:;@g setldanawrarany BluOiug)
(A).  Gywrss sameeurt

.(B)  swews Guwnss enevault
(C)  orRQw e
(DY Gerssur
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*Consider the following statements with reference to India.

1. The Chief Election Commissioner and other Election Commissioners enjoy equal
power but receive unequal salaries

2. The Chief Election Commissioner is entitled to the same salary as is provided to a
judge of the Supreme Court

3. The Chief Election Commissioner shall not be removed from his ofﬁce'éxcept in like
manner and on like grounds as a judge of the Supreme Court , -

4. The term of the Election Commissioner is five years from the date he assumes his
office or till the day he attains the age of 62 years whichever is earlier

Which of these statements are correct? _ .
(A) . land2 @ 2and3
. (D) 2and4
EGp o_erar sanmisefich QS Corse cgé,an.@wr UDD <15,

1. . smamb Csrsd et whnw Gp Cersd cs’;;{,ansmﬁu_lrreasen'r ST i HEmrib o L wauiEeT
24,ENTE) FLOWHM FhLemDd GumnSlpriser -

L A& Caige Syement 2 5855 06 msdlen ﬁ,@ur‘ﬁa&aﬂm @Gmmu_lrrsu‘f FLDLIGTLD @uguaﬂg)rrr'r

b

3. ogspduansdeanr FHufsmeny Cund R (Sg,ngso a;bsmmu_:aury ugehl f;&asm AETHTY)

(Pl LTS . :

4. spoamn Cpigd el § enbHsEhsE ﬁlw-ﬂi&ﬁu@aﬁmnr’r. Goeyd ojeur 62 euwig
eruQurpg AlgbuyfnCsr Erety . org (peransna eumEDGHT iper Uy LGS Smiuimi

Eenausatler areney Fflwremeneu?

@A) lopgod?2 : B) 2wppn3 .

(©)  1wHmbd _ D) 2wpmh 4

Central Vigilance Commission was ‘set up on the recommendation of
(A) Gorwala Repf')rt

ﬂfi*)/7 Santhanam Commitme
(C)  Kripalani Committee

(D) Indian Administrative Reforms Commission

" wgHw sarsranfliL/ Sl mrTe| e erger UMbgiengullen Guifle qm'u@,g,g,uur_l_@ ?

(A) Ganmfreureor sidsens

B)  spgrend G
© Amourefled @y |

D) @pdu Hirauirs Eifmss peamuid
¥ ‘ GS17
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Which one of the following statements about Comptroller and Auditor General of India is

not correct?

(A
(B)
(o]
@)

He has no direct access to the parliament and no minister can represent him
His salary and emoluments are chargeable on the consolidated fund of India
He cannot disallow any expenditure which in his opinion violates the constitution

He has been debarred from holding any office of profit under the union or state govt.
after his retirement

EDEaETIDNIET 6THS sadm GBS wnedlar Gameantd seawTé@ WO Sewhsanawirern UhHwg flwde

GTEITLIENG Fo. 1) &.

(A)

(B)

©)

(D)

SIEU(HEG I_IF[IIFF@LDG:MIDE.@]L_@T Crrg sy e wirg WHMID eThHE HEDEFHD SHeUTE)
rdlbdwns Qawdur apyuirg

Sieurs cofuh  wonn Gn uerluwass @pdwureler GsrEludu  HEuRS EHE

aulprIsUILBHSDg

SiTfluaenioli | aflSlsEnsE LapTs e o155 droalaThsErsEL <igiod euphia Guang
ABEIL Fanaanld Gawrd@ HMID Fanldemamimat Lged guiay Gubn AerenT, 0SS Bl
wrhler siFFrhangeaia umluwen S sl ugell wdssmd eum Blugeludedmba:

BaaliL(heur

The institution of Lokayukta was created first in Maharashtra in the year

(A)
©

1970 ‘ (B) 1972

1978 @) 1971

-Gmrra;ué;g,rr GG <HEDLOLIL| (LPSEH(LPENDINE ma;ﬂuneiqjtq,g&aﬂeb FHUBSSIULL Spemr(h

(A)
(C)

1970 B) 1972

1973 D) 1971
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Whmh of the following was referred by Surendra Nath Bane1 jee as “The Magna Carta of our
rights and hbeltles"? . s

(A)  The Constitution of India )
(B) The Indian Councils Act of 1919
(C)  Regulating Act of 1772

@’57 The Queen’s Prc')clamat‘ion of 1858

BLg 2 fenser wmHmibd a%g,{rg@ug,éﬂwaarrem DSTFTFEID GTEBIM)] &Cﬁrjgbﬁuggngg LimenmiTed], &Qa;asaml_eug)@so

Grg,emam GO LmT?

A) @ndu sirflusentniil] -
(B) @pdw seyeardiad s b 1919
©)  euEEmp s b 1772
D) eyrfwucfier Srs_empd 1858

Consider the following statements with regard to Public interest litigation.

1. In essence, a third party can bring before the court issues in the public interest_

2. The Supreme Court may action the receipt of a letter or post card from a citizen
requesting protection of his fundamental rights '

3. It is also known as social action litigation

4, Justice V.R. Krishna Iyer and T.N. Bhagawathi were its proponents

(A) 1land?2 : _ . (B 2and3

(C) Sand4 - Wk @ 1,2 3and4

EipsamL sppsaiid dungipe aipss @Q}I‘rtl_le_IITGUT apfenen SHSHe Qamers.

1. Qurg) Beven &S e apannimh BUT Ayssmarsamer EflnarmasnG taraT( auFamb ‘

2. P Gysd s SliglumL 2 flewsmar LIGSTEGD GUIGLE Hig.50 aumSleonsGeur -
Sidag sumd apowrsGear BHwapsd b Cal.Gé dsrar_rd 2 Fehdivemib é{g,em Gufled

@euduLmD
C@a SO TS EL{&J@‘Q‘J QGTL_TLITET GULDEE GTEMHILD <HEMPEHHEETLD

4, fg'e_f;]ué\ V.R. dl(meizemt niwim LDDQ;LD f,(a‘,]u@ T.N. useud AHCUNT srer Glans Gia;rrmr@
b6 THaT tg‘;gp@.lrr : N - ;

A) 1wpgb2 . : B) 2 LD[?)@JL'D 3
© 3uwpmbs ) ~ D) 1,2 3wpmb4
39 S - GS17
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| Consider the following statements.

Assertion (A) : * Cuscuta is a parasitic ammal

Reason (R} - : Cuscuta depends on the host plant for 1ts organic food, water and
mineral salts.

(A) Both (A) and (B) are individually true and ( R) is the correct explanation of (A)
(B)  Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(C)  (A)is true but (R) is false

(A) is false but (R) is true

) &@é;a;rr@s_:n aumsHlubisener seuangse Qandrs.

sgpm (A) : SEVGLT eTehiLIZ) e epl_(Hemment eflevmiflamsd.

&;FUGZSETL'D (B) T - sau@LT Feg e ame], gamant wpmib safn 2 oysefldar  Cameuseris
: DETE STeUTSHenans onfihd msED )

(A) (A wpmib (R) @rear®ib s, (R) aenug (A) eflpe sfwirer edergsn’

(BY (A wopw (R) @aesr@ adl, Guognd (R) ereiiuig) (A) el @ Fflwimen eané oo

(Cy (A sl yemed (R) Seum) . *

Dy (A saum cfgxgatrrrra) (R) &l

Consider the following statements :

1. Chlarofluro carbons have been widely used as super coolants in aerosols and
insecticides.
11. Methoprene is harmful to plants and animals.

ITII.  Photobacterium phosphoreum is an example of bioluminescence.
IV.  Pedology is the study of soil in the natural atmosphere.

Find the correct statements .

(A I, 11, III are correct (B)- I, IIT and IV are correct
(@7 - I and III are correct (D) TII and IV are correct

Epaaen mnéstés‘]uré.laasnm‘és Seu et

I ugreiser  (aerosols) wpmb UFHE Csredselle, QumburarebLITs &GenrGro
 oeyenGrmstiueser 2wl Geaflaplig sers umsau@,a_sg,uu @élempm

II. SGsmI Men STeUrhIGeT aflen Gs@rsE Cal efanarellLLIGMEGLD.

L SCGumiGur undig Auibd umessurflwib ereg) e ulliv gefliTeflILITenEeHaE 2 FTTaTLONELD

IV, Screg] erarug Qlupens @pedled et LDl GyuiieumELD
SpsaanL GHuGamen’ watLHSH sflwrer eflen_aw c;r@gjés.

A LI m,r_f)gjdn I v B sAwrareneu (B) I, III upmw IV w b sfuirearens -

. GS17

© T wpgbd HIwl Gib sflureenay (D) I wpmd IV e Gib eftureaene
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The colour of tomato fruits is due to the presence of
A) Anthocyanins ' (B? Carotenoids
(C)  Flavonoids . (D) Tannins

gaarat] upsHen auamansHnE G srarriLEDb CUTEHET STFeTLTE@LD
(A)  pCsr ewawafenser (B) &GD’I‘TLLq_GGTEI’UL!@EG‘.IT
(C) UCeewemiiser : (D) GueNensmer

Which of the following is odd one out? .
(A) . Fillicophyta (B’)/) Hysterophyta
(C)  Lycophyta Ny (D) Psilophyta

£Qé;a;rm’arum;,u,r_hgjén Qumrmssoopass GHHGAGHS.
4) SASCsmruiir (B) ’@ﬁ]GﬁHq_GUIT:nGm‘LIE._I_IT

(©) ' masCariemulir - D) mevGam el L

Cycle dynamo converts

(A) Mechanical energy into thermal energy
wﬂ Mechanical energy into electrical energy
(C)  Electrical energy into light energy

(D)  Electrical energy into thermal energy

Bileuaimguiley 2 eiren enLenGLom IHMHIES)

(A eapdly SpHmena G}la_luu DDDETE

(B) - apdy phpen W g ppeTs
(C) - et ypmare pafl epppens -
(D)  dlew gpmene Qeuliu ypHmevTE

41
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Which of these connected in parallel in a eircuit will produce undamped oscillations?

. (A)

®)
o

)

R. L (Resistance, Inductance)
R, C (Resistance, Capacitance)
C, L (Capacitance, Inductance)

R. L and C (Resistance, Inductance and Capacitance)

@eunmieT ergenan W shblen LG&auT g6 eSS Sen DT AN ST gHU{HD?

(A)
(B)
©)
)

R, L (DergenL, temblanainib)
R, C (BlangenL, BSienCasdl)
C, L (WeanCgadl, famblanaini)

R, L mhgid € (Nersar, Wenblaawd wpmib tlaCssd)

Which of the following statements are correct?

In an isothermal process,

(a)
(b)
(c}
(d)
A(AY

@

the temperature of the gas remain constant

the gas does not take any heat from the surroundiﬁgs
the internal energy of the gas remains constant

the pressure and volume of the gas remain constant

(b) and (c) are correct (B) (c) and (d) are correct
(a) and (¢) are correct (D) (a) and {d) are correct

G QarBidEsliLl [Herer apmbsated eTeneu &‘IﬂUJrFGUTGG)GU?Y

e soleuiLifleane Blapeild,
(@  ipg eumujeiler deudubleana LIPTSSTELD
(b)  <ibs eumy &[bgjuqbgﬁaﬂ@ﬁgj aTbs Geuliupld er(livdlevenen
(€)  eaumuellen 2 67 HM LIDTSTEHD
(d)  aumyellen (&S LHID LHLOET LADTSHTELD
-(A) epm (b) wopmb () sMwmrenenay B)  spy (c) womb (d) shwuraena,
€ =pm(a) opmbd (¢) sfiurenana (D)  smpm (a) oo (d) sRlwrateneu
42
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Match the following blood pigment with their colour

(a)
(b)
(c) -
(d)

Pigment
Haemoglobin
Hemocyanin
Chlorocronin
Pinnoglobin

@ (b

(A)
(B)
(©
@Y

1

o

™ Qo W

2
4
2

o

c)

Lo S -

LW R R W e

Colour
Green
Red
Brown
Blue

&d Bpdemer sipen finsSHE ghpeurm sflwuns AuThSgs.

(a)
(b)
(c)
(d)

(&)
(B)
(©)
D)

Consider the following statements.

B

" el GomgSemmiilaat

afl Gumenawireflasr
&CarmGrm@gGrmeflen

1A erGemmes GarmiSler

(a) (b)

BO o hD
R T L

Assertion (A)
-Reason (R)

(B).
(©)
(D)

©

3

<
2
1

Lo = R WD

A

LIFens

- Feauliy
- Yreyen

Sod

A drinking expectant mother can harm the embryo.

The alcohol can pass directly into the blood stream of the fetus. -
- \(/7 Both (A) and (R) are individually true and (R) is the correct explanation of (A) *

Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(A) is true but (R) is false \
(A) is false but (R) 1s true

]

SESETED euTSSwkiSenars Seuangsle G\&Srreh’&

sadm (A)
a;rrrjamb R :
A)-

(B)
(©

(D)

@qa;@m s Ganfl Cuewr, g,em GBS CUETTES &S gjmugjg@éﬂmmm
inggLITaD QrsssHen ppnrs Ghangss deddlang.

(A) mg)gjm R) @rem@id &M (R) eraniig) (Al eflurmar aflarésib

(A) wpmb (R) Qrem@w sfl. (R), (A)se sflwmen edeTésIOH®

(A) &l gemmed (R) geum

(A) saumy e (R) &l
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110. Photochemical snllog is formed by
M 0,, NO, H,0,, organic peroxide etc
(B)  Consists of mercury and lead -
(Cy  Consists of NO, and CO

(D)  Hydrocarbons '

apefl Goaudlwidr Liefilijens o am_T&s STraRTiD

(A) c%é;aﬂggeﬁr; BBLT6N pbenav(h, evanlymen Suhamav(h, <y Tanells Quitgdemean( ete
(B)  ursFED WHYL STFELLD h

(C) anpBLLysnan anl pA&ema(B whmibd sniusn Gurermamen(H

D)~ ewen Gur sniug

111. CD-ROM is a
. = )
(A) Magnetic memory B) " Secondary memory

(C) Semiconductor memory (D) Memory register

&g -Gymibd eresTLg)
A)  s1hHs Blevarcustd ; . (B) @UG%MLan Bleney Hlenenausind

(©)  afdhssd Hlameneuaih (D)  Aflaemeus uSHGa)

112. Transfer of a file from a server to your computer is called

(J()) Dow‘nloadin'g a file (B) Uploading a file
) | Transfer a file ; | (D) Change a file
- Qateufialimby o el w safllallsE qm eume @Lwmmpb Cslsms Gran
gm@&&ﬁu@aﬂfp@ '
A eueo ufelnash Qalige (B) aueo uflCannn Geliged
(C) . evueo® @L_I'_DIT@[DU) Glewigea (D) mr;:c;mcu LOMDH Y H60

GS17 . . 44 : B O
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113. Match List I and List Il and select the correct answer using the codes given below :

List] List IT ' ~

(a) . Tropospheré -1 Ultra violet rays

(b) Stratosphere . 2. R;oldiowaves

(c) Ozonosphére 3. Movement for jet planes
(d) Ionosphere ‘ 4 Weather changes

@ ® O

N 4 2 1

® 4 2 K\
© 2 3 ) C }
Wy 4 3

vlgued T-ocer uligue I-yaer QurEsdl, ulgwasErs@s G 2der QsTEl b
sflwrer eflen_uilenen Ggfey Glalis : Ph

. ulguiey I \OA - utguwed 1T
(é) | CCrriGumreiSlum 1. L 2a1&T SElisar
{b) Gh)!q_Gul;CSl_nequUJﬁ . .2. © CrigCur sienevser
(©) CanGarmenGwii 3. Qg cungnmitd) LDEEWD LGS

(d) CurGanmeiiGwit 4. auneflen wrHmibd

@ ® @ (@ ' | .

A) 3 4 2 1
B 4 2 1 3
© 2 3 1 4 '
™ 4 3 1 2
0 N - - 45 " o ' GS17
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114. Match the 1items gi;\mn in Column A with the items in Column B.

Column A Column B

(a) Coal ' 1. Sulphides

(b  Alumimum 2. Bituminous

(c) éopper ore 3. Magnetite

(d) Ironore 4, Bauxite A

(a) (b) (c) (d)

@w 1 2 3 4
®) 3 4 1 2
@ o / N 3
) 2 3 y &

Qam@d A-eneu Qgnwd B-ayen Qumsgs.

dared A Qeres B
(a) Hovdasfl - 1. FeoenLil (p
(b) é@mmﬂum 2. Q1 BLSlemev
(¢) Gsbygrg 3. Cloderrenl
d) Qmbysrg 4. LiT&enat

@ b © @

Ay 1 2 3 4
®) 3 41 2
© 2 4 1 3
) 2 3 4 1

GS17 46
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115. The Bokaro steel plant was set up in the year
(A) 1970 (B) 1967
'(.(ZQ 1973 _ (D 1975

GurssnGrr Gmibyy Agmfiperena Himeilun’ L eu@mL b
(A) 1970 ' : (B) 1967

(C) 1973 , D) 1975

116. Match List I and List IT:

List I ‘ List I
(Crop) (Producer) "
(a) Tea . Gujarat
.(b) Rice 28 Kerala
{¢) Tobacco 3. Assam
(d) Rubber 4. West Bengal

@ ® © @

A 2 4 3 1

® 1 - 2 = ¢ N

©C) 4 3 = 2 1 ‘
Wby - 3 B W 2

aums [ wpnib cuans 11-1qenem Qun@ggs{:

cuens | cuana I
. (Lu4lir) : (e_pusgHwiment) - -
(a) - Csuliema ' 1. GLITH
(b) =S 2. Gayarm
(00 ymslee 3. - <BIGDEOITLD
(d r;:'Ju.r'r 4, Cuoh eukisTemd

(a) (b) © @

A 2 4 3 1
®) 1 2. 3 4 :
(C) 4 3. 2 1
®» 3 4 1 2
o R - 47 - o GS17
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117. In India the electricity consumption is given importance to the following sector-order it

according to the importance given by the government

\m Industry, agriculture, railway traction and public lighting
(B) Agriculture, industry, public lighting and railway traction

"(C) Agriculture, public lighting, industry and railway traction
(D) Industry, agriculture, public lighting and railway traction
GBS uineler Epsean. gopsails Waery metesg wasdusged CardsstiuBing — 2ir6
Gar@éEn wpadwuggeud Ursrrd s @urEGUhSs. - B
(A) Qsmfbgienm, efleusmugienp, @rde CursEaTss wHmb AuTs eafliuB s s g
(B) eflewsruib, Asm@ngienm, dung galuu@ggises wpmib Grlle Curageaursg
€y efeusmwb, Gurg ealluRESIsD, berfihgemn LHHD G Cursgeaursg
(D) Garfpgiern, edeugmub, Qurg gallli@sgise whmb Grdle CursGearss

118. Match List I with List II and select the correct answer using the codes given below :

| List] List 1T

(a) Vasanta 1. Summer
(b} Grisma 2. Monsoon
() Varsa 3. Winter
(d) Sisira 4. Spring

(a) (b) (©) (d)
(Ay 4 2 3 1 S
B 2 1 3 4
(C) 3 2 1 4

4 1 2 3

auflens I-2_ e eufiens [1-1y nam) Quirmsd euflaesers@ S Qar@ésuu Gerer Ggsrglaadmhe)
sflwran sllenwllenan UgMlay Caws : ; '

aflena I eufleng I1

(a) euspsT . 1. CamenL_ gmeold

(b) dflevwr 7 LI(TB6US STELD

(©) eumagr 3. @eflT smeulb

(dy Hebdlynr 4. @anCGeuelp HTeud
(a) (b) (c) (d)

(A 4 2 3 1

B ‘2 1 3 4

< 3 2 1 4

o 4 1 2 3

GS17 ' 48 : . O
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The figure of a dancing éirl made of bronze is excavated in the place of
(A) Dilly : (B) Lothal
(Y7 Mohenjodaro ' . (D-) Rupar

‘g_r;:n'_tq.u_‘r hiens erem Geuaimsa 2 (e GLMbenw 6T s eTBHEsILILL g ?
A)  god ' C(B)  Gergsd
(C) QursgsesrGrr D) ot

Which of the following is/are wrongly matched?

L. Bhavabhuti . Malatimadhavam

II. . Subandhu - Vasavadatta

[II. Kalidasa’' . .=~ ' Dasakumara Charita

IV. Dandia ~ * Avanti Sundari

(4) IandIIL ' (B) TandII
(© LlandIV @Y I and IV

WereumeuaeuHm&T Seupns QuIHSSUULHETers) 615 ?

L ueu gl - WIRSILDTSeD

IL &UHS) - QUMTFELSSSLD

L. srefigrer - SE(G DT &rﬂg,ﬁmb

V. g,e;'fs'muru_lrr - - Db HbHM

(A') I mmg;u.b IIT - (B) Twpomw I
(© L I opgo IV ) D) I wpgw IV

How many major Indian private banks have been nationalised in 1969 during
Indira Gandhi’s regime?

@ 10 - S ® 1 ;

@Q)” 14 . | D) 20

1969-1b ya&r® @nsor st c'g,l_ﬁuﬁlm @urr@ agsma @S ;_r,arﬂu_rrrrr i fl e
Caflwpwbrdsii L g?

!

Ay 10 : (B 11 |
(C) 14 D) 20

49 GS17
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122. ‘ Match :

(a) Al Hilal
(b} Navajivan
(¢) Bombay Chronicle
(d) Bande Mataram
(a) (b) (c)
Ay 1 2 4
B 2 3 4
. 2 1 4
@y 1 2 3
- QuTmESIS :
(a) é{a‘i—) oblenTed
(b)  meu Heuen
{€) whumi flrreflss
(d) eupls rgrD
(a) (b) {c)
Ay 1 2 4
B 2 3 4
© 2 1 4
D)y 1 @ 3

123. Dinabandhu Mitra’s first play

planters.

(A)

Kulin Kulasarvasva

. (Q'ﬂ Nil Darpan

Semubg SGymeflen 1psD HILSLTET

www.mntfreeias.com

1. Mahatma Gandhi

&

Abul Kalam Azad
3. Aurobindo Ghosh
4 Pheroze Shah Mehta

(d)

IR

1. LO&STSLOM &I Sl

o

DLV FEMID 2FTS
3. 2179 Bg CaHmeip
4. GCrmagagm CogT

(d)

W W o= o

(B) Ratnavali
(D)} Ras-lila

Qan@enwaeen QeuaflliLBsSwg).

(A)  @edlen Geostaurseur B) rsameiah

€)  fé grue (D) s eSeorr
GS17 50

www.mntfreeias.com
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K. Kamaraj, participated in Vedaranyam Salt Satyagraha, he was imprisoned and sent to
the prison at '

{A) Coimbatore (B) Vellore
(C) Andaman ’ - '(B{; Alipur

&. SOETET Geﬁgrﬂ]s&m‘um 2 Ly ssfundlissdled swng Qsram_shers, @sg Gelg Raopudd
Slen_Gasl_L G b ———————

(A) Camwubygsgnt _(B) Geugprmt
€) sipswrean — D) ey

Choose the correct answer from the codes given below :

" (a) Assertion S The Asoka Chakra found in our National flag consists of twenty four

: spokes. They are in blue colours.
(b) Reason . The twenty four spokes denoctes the eight fold path of Lord Buddha.
() Both (a).and (b) are correct
(B) (a)1is correct, (b) is wrong .
(C)  (a) is partly correct, (b) is wrong
(D) (a) is partly correct and (b) is also correct

<§C3ép Qar@ésiiul Herer GHuSGeelalmbs #fure sl mu sam@dy.
(a) smss - Buwg Cailus Qg e 2 erer Cans sHEID 24 HLYRSEHET 2 MLLIF. 6D
¢ B B Qaream_emau.

(b) snyemrid  : 24 Sy hisEHD LSS Men eramauldld Qesrrmsmsmu_laa G &Slesmen.
Aa) (@) wpgd (b) GranGuosfl (B) (a) &, (b) seun
©  (2) S i O s, () g @) (@) énueBub, ) yb o

Our National Anthem was ecomposed by Rabindranath Tagore, it was first su.ng in the year

(A) 1905 . (B)y 1906

~@fl 1911 (D) 1912

Bog Casdlu Essms 2 (Heumddlwueul @Umﬁ’;bgﬁr}@ng STaa, BULTLG ApseT WpewTs Ganssaei it
20

(A) 1905 (B) 1906

(C) 1911 . D)y 1912

51 - GS17
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Match List I with List II of the following with suitable options

.- List T . : List IT

| (a) Virupaksha Temple 1. Ellora
(b) Kailasanat_ha Temple 2. Kaiugumalai
(c) V;ettu'r.ar:l Temple 3. Pattadakal
(d) Ladhkhan Temple . ‘

Aihole

@ © @

(A} 3 1 4 2
@ 3 1 2 4
© 1 - 3 2 4
D 1 2 3 4

128.

g@@ Qa;n@é;&ﬁ;ul;@drm uligwier [ efllampeg ulgwid IT—o Aunmsswreaeunenn GCaib Qs [H1ds.

QRS | L iguen 1]
(a) elimuser Carude _ 1. GI'GDGG\)I'I"I]’H’
(b) Gmaseurr&g;rrg:,r'r (;'iasrruﬁieh 2. &(LP(GLDEDE
(©) G]a_n'_@rjrr‘sin Ga;fru_cﬂsi-) 3. LI L_5&e)
(d) sm'_aar.rein Camuley 4 Qs

@ ® O @ -

(A 3 1 4 2
B) 3 1 2 4
(€ 1 3 2 4
@) 1 ) N 4

Chinese pilgrim Yuan Chwang visited Kanchi in

&5 AD. 640

AD. 150

- ©

GS17

B) AD. 500
(D) AD.720

Fen wgfar weuren seunk sngHew LTl L g
£.9.640 . ’
&.9. 150 .

(A)
(&)

(B) &.9.500
(D) £.9. 720

52 -
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Consider the following statements. .. - . , ERENTL
Assertion (A) (Gandhiji started civil-disobedience movement in 1930.

" Reason (R) : Therefore, the Indian National Congress party did not partlmpate in

the first round table conference held in 1930.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A) )
(B)  Both (A) and (R) are true and (R} is not the correct explanation of (4)

' @5) {A) 1s true but (R) is falsg

Dy (A isl false but (R) is true

Spssnamib cunsSlutisemar seuansHie Qanars.

snpm (A) : srhSlwigser 1930- s bpiy Quisssnss Glgrimiglenm.

aryewrid (R) <5Ga, @i Caslw a;rrrmeﬂrjsm &8 1930 pge . euit Cuoens LDI'I'(IB[TLLq_GD

_ spg darararailena.
Ay A wpmb (R) &M (R) erenug) (A) eflibg sflwmen eflerdsn
B) (A wogw (R) & whmw (R) GTGuTugj (A) eﬁlm@ sflwimer efleré&swnden

(C) (A sf pame (R) seum
D) (A gaim geama (R) &M .

Consider the following statements. ) _
Assertion (A) :  In 1916 Annie Besant organised the home rule league at Madras.

Reason (R) ] Its objective is to achiéve home rule through constitutional methods.

1

\_LA‘G Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A) is true (R) is false ’

(D) ‘ (A) is false (R) is true

SpseiT_ surresa%urma;smm seuasi&asayLb.

L4 -

sapm (A) - : 1916 b ek Senafll Cusen @&mmmuﬁ]m gmmrrf_zﬂ FBIGHHS
. e;qmmg,g,rr'r :
anyenid (R) 1 pdlueainlily apepudid g,emsurrrl_eﬂ SenLeuGs @gm (Eg,nma;mn@m

@) (A) wigd (R) @ren@Gu sl Cugud (R) ersitug) (4) eilpe slune slessioneib
B) (A womybd (R) @ram@Gw #fl Guaib (R) eremuig (A) eﬁm@j sflwrer eflenésinaen
(©) " (A) ofl e (R) poumy -
D) (A seum spanmed (R) &l |
53 o GS17
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131. Consider the following statements consisting of Assertion (A) and Reason (R) and select
your answer using the code below.

Assertion (A) : The main political task of the national movement from 1870 to 1900 was |
politication, political propaganda and education and formation and
propagation of political ideology.

Reason (R) : The press was the Chief instrument for carrying out this task.
(&) Both {A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are false _

(Cy  Both (A) and (R) are true but (R) is not the correct explanation of (A)

D) (A)is true but (R) is false - .

Desreumd G eursdlunisatler Aar@HasiulHearer sapn (gn), sryewrd (1) <& uameusmer &(iHSSHO
Qarar® &G Qariasin_(Herer WgmEliba @mba o s ailen_eow dsflay dals.

g () 1870 qpssd 1800 auewy Casflw @u_lésaagg\ém @gﬂé;(?;a;rrmrra; aflemmudliig)
@m@m@ﬁ&@gm eirflue  Ygsemybd, Sdel LOHNOL STl (Ea;m_um_ml_
o (meurdEl LTl se. )

srpemrid (&) @ ‘ Glaisflansans e usdifléamasenen (psdlu srseanors uumﬂu@g)guul_l_@
(A) (o) wdmId (87) 2pEw rerGio.an (&), (am) e &rﬂu_msur cllen&aih

B) (&) wpgib (&7) GramGid seum \

(C) (&) oMb (sT) QramHin salssaflCu of yenre (&), (dn) efem fwiran eflemdsid o6e
D) (o) oA, (&0) poumy

132.  Which of the following statements is TRUE? '
1. The Government of India Act, 193'5, introduced dyarchy in the provinces.
I1. India council was formed in 1935. _
ITII. Montagu-Chelmsford Reforms Act introduced dyarchy in the provinces.
IV.  Provincial Autonomy was introduced in 1935.
(A) TandlIl : (B) II only
(C) IIlonly ) Ill'and IV

SpsaaLcubmier sfluneng g/ eTeneu?

L. @ndu oirss s b, 1935, nrflamsais @il e ol Saw siflapstivG i,

IL. @mdwn seyandled 1935-60 Qamiristin’ L g).

III.  wrerEeg-CebaGurih  fdmsss 0D  wrhleomsald  Grler oyl fdew

SflpslupEiiug.
IV.  1935-é wrfle sum’ & gpuBssliucL g
Ay Topmoll ' B) IIwiepon
(Cy IMw @b (D) I wohgid IV
GS17 54 . O
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:\ "
If the sum of two numbers is 1020 and their difference is 140 then the num_bers are .

(A)- 680,440 20 (B) 540,580
©f! V580,440 . LT @) 520, 500

o
- - -r . . " Aty

B eransailen sl B dgras 1020, wpmid seupler eflgdlunen 140 erefler, ibg eraimser

(A) 680, 440 (B) 540, 580 .

A

“(C) 580, 440 ' (D) 520, 500

Monthly expenditure of a person whose monthly salary is 9000 is as shown in the diagram.
The percentage of money spent for medical expenses is

-

Food
expenses

Medical /
expenses,

expenses

(&)  10% @) 20%
(C)y 30% : - D) 40% -

5. 9000 g sbUeTESD, @@alu'r Sipseir_eumn uemsens GFwe] GELSTD, BeuT WSS
Qewelnsns weru{dsHu vanrg e sgeign y

@)  10% S B) 20%

©)  30% - : (D) * 40%

55 . GS17
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135. 2.48 x 2.48 - 152x152

The value of
0.96 }
@l 40 B 44
{C) 1.4 . D) 1.0
2.48 x 2.48-1.562x1.62 OBt -
0.96
. @ 40 . B) 44
- (O 1.4 O 1.0

‘136, If2**Y =277 =16 then y is

A 2 : ' B) 4
@’ o o) 1
2% = 2"’.’ = 16 arafled y pyemg)

A 2 ' - ' By 4
@< o ' D) 1

137. If x+y=12 and xy =32 then i+~]L- 18

x oy
1 1
(A) g (B) P
1 i
(C) 1 @y r
' 9
x+y—lu,xy 32 eraflay —+— 2|
Xy
L : >
(A) 3 (B) ’
1 3
C) 1 (DY 3
138. 132 of g2 _2. 9
7 10 9 .
@ "1 @) o
' 1
C 2 D)y =
(C) . . . (D) 5
1+ (6-—— @a) = URIE) —-—‘?
A 1 - (B) 0
: _ i
C 2 =
(©) _ (D) 5

GS17 - . 56
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139. By seng an altmle for Rs. 480, a person lost 20%. For what amount should he SEH it to
make a profit of 20%? : - : : .
(A) Rs. 800 ’ - (B) Rs. 760 . : )
" Rs. 720 ; (D} Rs: 680 ) . -

greu e Qumrmetlaer 480 erumdE afpuemen Qeligned, SaumEs Gjﬂ;U@Lb pagL b 20%.
SieumES 20% Qeruh el és Cauan@Hid aammrd, sibsl Qurmmefleaer @eur Grg,g,emem @uﬂma@ .

eflhe Gauaim (b ?
(A) . em. 800 : B) m. ?60

(O . 720 : D) . m. 680

140. The highest common factor and lowest common multiple of two numbers are 12 and 144
respectlvely If one number is 36. Find the other number : -

@ 4 ' il ®) -
(O 36 | _ {Dﬂ48

@ aensafiar BUQUm Qurg smpesll (eu@sd) 12, Befly Quirg ol dig 144, e eTetT 36 eraien
LODHC D IT(T, 6T T GHARTE SHITEHTS. .

(A) 49 L . . (B). 50

© 36 - (D) 48

141. Three numbers are in the ratio 3:4:5 and their LCM is 240. Then the HCF of these number

is A\ ,
o/ 4 . \ ® 8 Y.
€ 12 - (D) g6 s
3:4:5 arenp o9 &gsHed o drar epanm areRtaafien 8.Qum. o (B&fmy Glurgy wLnkig) 240 erafley @eupH e
B.Aur.s. (BuGLg Gung srpeell) eTerer?

A 4 (B) '8

© 12 | ~ D) 20

142. LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If one
~number is 280 then the other number is
C(A). 40 ' (B) 60 :

-

T @7 80 o (D) 100

[ eramgafian - i8.Qim.wo <o Seupilen . 5.Qurs. efen 14 wLhsrgw. 5.0urn wpmbd
B.Aum.s. eflén gBsa 600 g erair 280 erefley oH@m (T eTeRTemTTENS)
(A) 40 : B) 60 .
(C) 80 (D) 100 ' Ca
0 . BT ' GS17 |
: o [Turn over
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143.

144.

(G 5.5% - ) (D) 4.5%

145.

146.

GS17
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The cémpound interest on Rs. 30,000 at 7% per annum is Rs. 4,.3.47‘ The period in years is
. - l .
& 2 c B) 2+

© 3 . D 4

et Hé@ 7% sl euqulled, ep. 30,000 qpsedi g hemrar aul g mp. 4,347 erefled sren iaTey eTHSmen
e (DT arend sent (191 ’
@ 2 o ® 2

© 3 , | D) 4

A sum of money doubles itself in 20 years in simple interest. Then the rate of interest per
annum is

@& 5% ' (B) 4%
() 5.5% ¢ , (D) 4,5%

(1 QFmans gcuﬂm_Lq_uﬁ]m 20 sugpL_migaiie) @)(mL rhisrdng Graﬂeu eU(HLSHDaEmem aul g aﬁg,mnemgj
A 5% i (B) 4%

The dlfference between compound interest and the simple interest on Rs. 1,250 for 2 years
at 8% is -

(A) Rs. 2 : (B) Rs. 4
(C) Rs. 6 ' () Rs. 8

8% euliguildd 2 U (HLRIS@hEG  AHLIML 125065&9rr66r &L@Guuq_ LHmn  sefleu g&ELren
ellgd LmFDTaTS)

-

(A)  epumi 2 (B) emumii4
() @Lfmﬂ 6 E ) T D) emwumd 8

A flower garden is in the shape of a rhombus. The length of its diagonals are 18 m and
25 m. Find the area of the flower garden.

(A) 450 m?2 @) 225 m?
(C) 324 m? O 18m?

R WHCSM LD Ml s57 auyelld odrang. Sigem qpma efllLisar 18 5, 25 8. ysCsmiL sélen
UFLILIETE STeRrs. '

(A) 450482 : (B) 225182

(C) 3248 (D) 1882

5'8‘ _ @)
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If a square and a rhombus stand on the same base, then the latlo of the area of the square
and the rhombus is
(A)  greater than 1 (B*ﬂ equal to 1

(Cy equalto —é— ) (D) equal to —i—

-

FHTLD Lomrcmm FMFHTLD @J@W@LD @Crr &quuaagmga Qa;rramq.@gg;rr@) &gITD WHMb eTiiFsyoHHen
urlsuenellen efl£lsomeng :

(A4) g efle oiflswmEn (B) 15@ swwrgd _ -
(&) % & FOTEGD ) (D) i & (5 FLOOMELD

ra

Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps are
opened for 4 hours and then B is turned off. The time taken by A to fill the remaining tank
is .

(A) 1?“ hours (B) 1—0 hours
(C) 6 hours ’ o m % hours

A B ‘éreisrg) Gwmisar @ Azmiguiiaer qpeopGu 10 wpmib 15 wefiCrrada Hlriu @uanb.
EGirent(h GLerlsEsn 4 waflGerb Sobg ol DUCH GpE Geml B wmessin@Gdpg. @g,m_lq_uﬂear
erghdl LigSlenu Blylis @Epmg A m@g,gjas @a;rrm@m Criywmesg 5

T (A) % Loaf| Coirn N - (B) i—g mmﬂ@m’m 1
©) 6uoafGpynd ' (D) %Ognmﬂ@g,m

’

A and B can do a work in 12 days B and C can do it in 15 days C and A can do it in 20 days. -
Then the number of days reqmred to complete the work A, B, C together is

A 5. P 10

© 15 ) : D) 20

g5 Gouenevanil A wpmid B 12 prlsefllgibd B wpmw C 15 prsaflgnd C opmin A 20 srlsaflgid
apyLur arafles A, B, C @&np@] &‘r_ﬁr&, Gouevavenius (piqba CaaneuiiB b priseafler craealléems
A 5 (B) 10 .

€ 15 D 20

If 9 girls can prepare 135 garlands in 3 hours, number of girls to prepare 270 garlands in
1 hour is

(A). 20 S By 54

(C) 43 , o 19

3 wenfl Gurgdlar 9 Quensdr 135 wreesamar gu_lrrrﬂaaeﬁ]mmmrr Grevﬂeu @ Loewf] @g;gg,gleu
270 wrevevsaer swrilss CoeametiLGw CusTsatler Gremrrmﬂesmss
(A) 20 B) . 5
(C) 43 . D) 19
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o ' [Turn over

www.mntfreeias.com




www.mntfreeias.com

151.. The sum of numbers common to two diagrams is

& 118 : ®) 110
© = 108 - : M) 130

. Qar@ésLi_Harer UL g8 gCaend G eueamrULRISE@EEL Gungeurs o der eramsafier m (Hg

(A) 118 <D ®) 110
() 108 : . @D 130

152-. (1) D is taller than C but not as tall as B.
(2)y * Cis taller than A. -
' Who among A, B, Cand D 1s the tallest?
@ A ' ' @ B
<€ C T - (D) D

- (1)- D eremucut C—g 68l 2 wipnraneur ermmed B eyereysi@ o windléoema.
(2) C erermuieu A-gg el 2 wmoneneui erailcd A, B, C wpmibd D-uiéb 2 wiynmemeu wimi?
@A) A B) B
© ¢ Y ( Y

GS17 - . 60
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153.  Find the next diagram.

154.

oed s T

@A) - L - | .@57. l:"’

(C)l_‘ o |2

2hES ULGdlanen s ‘

’—l' 3 |_J\"== (_] o

(A) T__\ | | (B) [ =

o || ~ o |2

Find the missing number in the followir;g'series )

1,8, 9, 64, 25, ?, 49 '

@A) 210 ’ : ®) 212
© 214 L @ 216

ﬁ]siﬂeu@‘xb_ Qgm_fer afHu TR EOGRT ST :

1,8,9, 64 25,7, 49 _ .
@ 210 . B 212
© 214 . | © () 216

61
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155. Match List [ with List IT and select the correct answer using the codes given below the lists :
List 1 — Officers - List IT — Charges
(a) Rajukas 1 .
(b) Pradesikas _ 2
© Yuktas 3. Revenue Collection and Police
, {(d) Dharma Mahamatras 4 District Judge

Religion

_ Secretaries

@ O © @@

&« 4 3 2 1.
B) 2 4 1 3
(C) 4 3 1 2
™ 3 4 2 1

Q_II'ﬂGtDE I 2 & auflens ll—snem’ Gummsd) wrﬂmga;@as@ &ip QarTREs Il (HeTer @g,W@uﬁl@S]@g;gj
sluamer Gﬁ]eml_mu_lg, Goira) dFuia : .

cuflens — &l cufleng II—Qunrcr)u'Ju
(a) . Urrgw;r'r 1. FLOWILD /
(b) SrCzefa 2. GQaweare (g arflugis

(@ wesd
(d) . o waTLISSHTT

aufleu@e wHmIb Hraued

wreut . Bl

- 0

(a) (b) © (@

&) 4 37 .2 1
B) 2 4 . g
© 4 3 1 2
‘D) 3 4 2 1

156. Which of the following known as complete fertilizer?
(A) Nitrogenous fertilizer . ' (B) Potash fertilizer
(C‘/)q NPK fertilizer (D) NP fertilizer

EpssanL o rhisefd wpupenowrer b erg?
(A)  eplimen o gruser (B) © Qumli.rey o priaen
(C) NPK e_grisger E (D) NP o giusaer
GS17 . - 62 : ' 0.
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157. i is called bucl;minster fullerene. |
(A) - Diamond - ~ (B) Graphite”
@) ¢, : : (D) Coal
LIS EmLIT o oLjdbevifar eTen DienLpaaiii(heug) i G,
Aa) Gu)aur;rs.b- ' - (B) Ayreeul )
© Co - o en

158. Which of the following is halide o_re.? .
' (A) Dolomite - (Bf Rock salt
(C) Bauxite : v (D) Galena

 &pssamaupmier erg Canmer() Hmg?
(A) CGurareniol- . (B) umenp 2.y

©C) umsemen ' 1 (D) selemm

159. The major c.omponent of natt'lral gas is
- (A) Ethane {B? Methane
©) Butaf-le ) " (D) Propane
Qupars eumijedled Gu(mLd LIk QUpeug
@A), mGgan N B) BCser
; ©) .ﬂuﬁ;,,l'_@l_eh . , - - (D) yGrlGue - -

160. What is the literacy .rat'e of fe{nale population in India in the year 20117
- (M) 65.5 percent (B) 75.3 percent
(C)  82.1 percent (D) 64.5 percent
2011-b %mqw Gpdwurele, wasar Gig'rrem&;ufﬂsi) wsaflit SHDeuT eIFLD P -
@A) 655spelsd - (B) 753 sseSs .
© 821ssels ' (D) 64.5 s5alsid

o - ' ‘ 63 " o . G817
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i61. - F él‘eign aid can f)erfornll the following gap filling functions in UDCs. ~
i Savings gap _ .
11. Foreign Excha.nge ga.'p
ITI.  Technological and Management gap
IV. N atural Resourc.e gap - '
(A)  Iand I & 117 and1
(© " TandIl ' @) Monly

cueni& sl el HrH et Giméﬂ;r;rn'_@, Bfwreig Sipssram b B Qeafsamer Blruug Qaifng -
L Calliy @ent_Gleuafl ; ) ‘

L ophu Qseaned Ge Ga

I GsmdenfomfcNs: 6osdess

V. Qupems euar Qlan_Gasafl . - . -
(A) 1T whmbd IIT g B) I, II wpmo III :
© 1 wpgs 1T D) el G :

-

162. The growth of which one of the following remains an important objective and necessary
condition for inclusive growth?

)  Agriculture and allied sectors _. J {B) Industrial sector

. {C)  Services sectors : (D) External sector - *

Spsam_apmieT aa@mml L aaiEd apséu Cprésraab 2 GTeTGdlul euaTEfEE eudu

Blupsenenursayid Sapdng? ‘ _
(A)  Geuerress wppib S0THS Sienn 6T B) Qsmfpgip
H{C)  Coemeus genmaar _ ' (D) Qeuafypeyssieny '

163. Dunkel proposai was related to .
Wi © GATT -- " (B) UNO
(C) IMF , (D) IBRD

LaI&eT S b @ seni e GgmmyemLwsn@Gn
A  aml @dug,g,m (B) s B () siee
() - uemant_{ g - o D) cws cutid)

Gsi7 . e o R -0
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164. Consider the following stafizement :
I. Indiais a majo-r energy producer
IL. Inwd_i'a 1s a major energy consumer
III. India faced powef shortage since 1950-51
. Which is the correct answer? - ‘
@) lonly °~ - . " (B) ‘Ilonly
(C) .landIlonly - - WY I, 1Iand 111

Spssen cunsdliuksemer seuell |

L c%g)g)su sadleni o (HeuTSGD apsdl ;_r;rr@a;aﬂa) @pﬁmnmm e «

IL. cv:bg)meu F&Henw é.qg‘,]a;mrr&s HI&HD Brfsatcs @BHmaD e

III. 1950—516&@‘5@ @nSwureiier .:%g)mcu s&dl QemL_mbHs) ummrras@smpwrraa@su 2 _aTeng).
Gleunmer argy) sfwmer eflen?

A Iwi b ~ _ (B} Ilinl (b
(D) I, II wpmb IT1

-

(C) Towppollwvl @b,

165. Consi&er the following statement : ;
Statement 1 :  Gross National Product will always be more than the GDP.
Statement II ' To get GNP, net factor income from abroad is added to GDP.

Find the correct answer :

(A) Both statements are mchwdua]ly true and statement II is the correct explanation of
Statement [

(B) Both the Statements are 1nd1v1dua11y true, but Statement II is not correct
explanation of Statement I

(C) Statement I is true, but Statement II is false

\?7) - Statement I is false, but Statement IL is true

gIEQEEGUUTL_ cunsENIE sener Feued

sphp I - GQuwrggs Bri@ e pusd alQumpsId G]LDlT,asg, &sw;bm_(a &mug,élsmu_[ el
- BswrEGa @)mEELD. :
spm I[I  :  Guorsgs sri@® epussdow duneushHs. G]mrrgg, 2 ampml (B 2.pusHujen
QeueliprBaatiey @Qmpgs S s@o Hey smaflsafan amoransagyn Cosiss
Geuagm(Hib.
Gleubhmar ergy sdlwimen eflen_? - ' . . :
(A Qew(h sFpnsErGL g,soﬂg,gsaﬂ@u s amenwe Guand &py I @mpm Isg sfwrer
" afleT&EWm(EGHID. -
B) @uen(® &DQJE@GLD g,eaﬂgg;suﬂ@m EfﬂUJFfG‘dTGl‘)aJ G?LD@JLD a:n,rpggj II apm Iég eRwmer -
il & e

©) @mpmlaflu rreérgj, <D, ETED em@ggj II g;eurprrsu@
D)y  smpm I seupreng), yemmed sapmpy [ sflwireng

o - _ ' ' : 65 GS17
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166. Consider the following statement :

Assertion (A) 1 Price policy aims at controlling fiscal deficit.
Reason () : Fiscal deficit léads to inflationary pressure.
Which is correct answer? )

(A  (A)is correct but (R) is wrong

(B  (A)is wrong but (R) is correct

(Cy DBoth (A) and (R) are wrong

@Y  (A) and (R) are correct and (R) is the correct explanation of (A)

EpssanL eunsSunimamer saafl © ~

sapm (A) Aenad  Qarerans AL uppraGapan  &p  sLEUUESED  Crréshd

2_GHL LIS (GID,
smremtd (R): BELLDDTEGenn Lameiss Bi(pSSE5ma 2 M@0,
@eupmier sflwner eflen erg)?

(A A Efﬂ}uﬁﬁb’@ 2pame (R) seuprangngld
B) (A seupmangy: <pemrad (R} eMuinsngmgn
€ A LDQ'JQJLb (R) @Uﬁm®m SEUDTETENGU &b
D (A wipb(R) grar@wb sfuraena wpab (A) & (R) sflurer aﬁ]ma’sa;mrr@;b

-

167. Who was the Chief Guest at the 45t Independence Day celebration of Mauritius?
(A)  Mr. Najib Mikati ) . (B)) Mr. Pranab Mukherjee
(Cy  Mr. Shinzo Abe (D) Mr. Gabriel Costa

Glomiflwe Bmig.en 45-eug aebsl Sangpam Apiy elpdbdaTs sobs) Quamaim_auir wimir?

A4) Ao pgdu Bamg . B) S, Qpenrl (psiedl
(C) S BaGeavr G - D) S smAAGwe Cameui_m

168. Who is the winner of 2013 Pritzl%er’Architecture Prize?
@) Toyo Ito (B) Jessica Ennis
(C)  Seth Macfarlane - (D) Simon Hayes

2013 amhiésarar AN avat s ig._ssme Lflens Geusmpeu wimi?
(A) CLrGur @G B) Qenellam aremeflen
(C)  Gss QuauiQeGen (D) evsiner Camiteiv

GS17 66 - o)
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169. The world oldest lady Koto Okubo, belongs to which country?

] Japan 5 (B) China
(C) England (D) Russia

2 evdlem euwgen Guearroenfluiner CarGL ep@Gur arhs BrieamL& Gambgeum?

(A)  giumear i B) Ser
(C) @ndlarps . (D}  reiywm
170. Match the following awards with the respective fields,
(a) Borlaug Award 1. Science
(b) Nehru literary Award _ 2. Adult education
(¢©) Shanti Swaroop Bhatnagar Award 3. Agriculture
(d) Hari Om Ashram Award 4. Various facilities/eminent teachers

@ ® © @

5 3 2 1 4
® 2 3 4 1
© 1 1 3 2
@ 2 1 4 3

S\paeit ell(hE)HEHL_6T cTene! @g,m_r'rulsm_mmmrj)mm QummSsis.

(a) CGunfemi eflmg| ' 1. <iflellc
(b) Crm ofiQaurad ail@wa) 2. eug) aubGEHTT Havel
(0 smpd eveumy LLBrsT aflmg 3. efleugmuib
(d) anfl b gyevrd allmg) 4. u-s'uGsugg] Fenm o Ffraar

(a) (b) (c) (d)

(A) 3 2 1 4
®) 2 3 4 1
© 4 1 3 2
D) 2 i 4 3

171. Which of the following is not correct about IRNSS-1B satellite?
(A} it is a navigation satellite
) lifted off and placed in orbit by PSLV-C23
(C)  has civil and defence applications
(D) lifted off from Sriharikota

IRNSS-1B Gewupmas Carer ghlss: Spsadm_supmier argl sfluimag) Side?

A amemafar Gb dawnemssGarer ‘

(B) PSLV-C23 o a(hsgé Qeererdin @ spn eul 1 Liumesuds Slave fimssiu L g
(C) Errgpeu LHMID EFTEmIeULDd STTIS LtenUr{HenL.ulg)

O BenfCart meflafl(mrg CeanssinlL g |

O ) 67 GS17
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Which of the following states do not hév? tiger reserves in India?
(A)  Kerala (B) West Bengal
(C)  Uttarakhand @) Jammu and Kashmir

SpssamL wrilokiseha Lelaer urgamushd @e{)mrrgs @p&u wmled srg;)?
(A) Garemm (BY Cuwme eurismeid
(C) = ggyamen (D)  mbep wHmb sraxdt

Transgenders were granted the status of third gfznder b}-f the supreme court on
(A)-  March 20, 2014 B) April 15, 2014
(C) June 15, 2014 (D)  January 20, 2014

HOILLTEQTEE6U TS 6T ALoETDITLD ulrreﬁlcurmrras 2 §5BEI0ETDID DIRISETHLD euprhdlul BreT
(A) e 20,2014 (B) . gy 15,2014
C)  m@9an15,2014 (D) gmaneufl 20,2014

Which of the following pairs is NOT correctly matched?

Indian Scientists Field of Work/Research
(A) C.K.N. Patel : Photonics and Laser
(B) Meghnad Saha N Astrophysics :
(C)y Benjamin Peary Pal : Disease resistant varieties of wheat
@) Autar Singh Paintal ": Cosmology and relativity

Siemeu(meuameupmy et #iluflevers Camiy. ergy? ‘
T @pdHu sidefwevrat @&Lmrrmg‘ﬁu_t LeoLb / Sy misEd]

(A).  &.Gs.erar 1GLe : GurL reflgen wpmib Gevar

(B) Cuamrs granm C o euren @udiGwe )

(9 @u@&@m Qe Lmey Crmds sHUL bupn . Cargens cuangsar
(D) =yt i euemd - &TEVDTERE) LD;DQ}L'D gmidludd

Which is the National Sanctuary/Park that houses Pygmy Hog, a critically endangered

_species? .
(A) Gir (B) ZXKaziranga

()7 Manas (D) Periyar

apDlQID =,LSssE o L UBSsSIULL @lannrer A&0) anms arayb 2 «flaigden sramrewions o drer
Csélu snamrmawiid /L BisT

(A) & . - (B snell prisn

(©)  wewsv . o Dy  Quflwar
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Name the proposed new dlstmct of West Bengal State in ‘90 147

(A) - Nalhati (B Alipurduar
(C) Silda - (D) " Adra

2014 b @é;,ewnq_m Cup@E ciisTargda LFsrs CarpmelsEsliuL aydrar I LD 6Tg)?
(A)  poapli (B) eellyigeunt
(C) SevLrm D) ogm

Name 'the Indian origin girl who was honoured as ‘Champion of change in 2014’ for their
exemplary leadership in white house?

. (AY  Esther Yu Hsilee (B) Dayana Elvira Tores
-§¥7 Pratishtha Khanna (D) Anahi Mendoza

‘G\Gusnenm wraflengufled wrhHpéde Eﬂgsmmu_m@rrrr 2014’ &bl Q.llapfﬁlﬁ daemellasiul L @pHw .
eubgreuyl dueimoenf] wiri?

(A)  orang weled ' . B) swment GTG;)GﬁD'lT Qe
(C)  Qrdlevsr apenen ' ) D) yemdl QueanGlLrar

. Which glacial mohptain region was named after Indian origin scientist Sinha of U.5.A?
N1 South Eastern Antartic (B) North west Arctic

(C) Himalayan Peak Region .(D) North East Alps

'a@mrﬂ&&nwmep @p‘éﬂtu el gpeprafl é}m@mna‘i}m Guwir Gruu@'é,]uﬂa) o arer  ueliwamads

@LLLJLJL@ areng)?
(A) Gaadlipse @{WI_WH’iq.& : - (B) G}J|_('§wrj)@5 TS

(©) @uuwaeulier eﬂasuuu@Q' (D) e flpsa ypatien

Which is incorrect pair in the following regarding Indian Tribes?

“(A) Bodo— Asom "(B) Ghond — Odisha

(C) ' Munda — Bihar o (7! Angami — Arunachal Pradesh

}%CBQ Qarpsst Herer Qb ugg@@tq'_uﬂmrﬂ@ TS B)enenTEeT SeumTens)

(A)  CunGLr- =Csmbd (B) Carawrinm— qu.om s
©C) pawrm — Gand | ‘ (D) omsEmns - symavreal) GgGssn

69 - GS17
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180. Which of the fo]lovx;ing is not true about Right Livelihood Award?
(A) Thé award was established in 1980
(B)  Itis usually shared by four persons
(C)  Itis known as Alternative Nobel Prize
(‘ll?ﬂ Pre‘sented annually in Brazil

eorl eeeuedadl 69 ma @gﬁlgg &g:asa&m_mmgjah oTg) &ﬂwnmé@w?

4)  ocudlimg 198010 el gHUGESLLL g

(B) Qungeuns é;eusfﬂ@g; Bres Gupmer L&liTHs) @a;rrmerruu@eﬁ]rpg]
(O  oevellmg wrbmy Gerued ufsras smsliuGdns)

(D) e (HCsmmib GCHAad s Lns

181. Match the following :
. (a) Rhinoceros
{(b) Hangul
(c) Gharial 3. ~ Gorumara National Park
(d) ) Great Indian Bustard 4. ° Dachigam National iDark

—

Desert Plains of Rajasthan

Kaziranga National Park

'!\2

, @ B ©. @
{A) 1 3-

4 2
By 4 2 1 3
© 3 1 2 4
Oy 2 4 3 1
SpseaLauhennls QurhSSIE :
(a)  asra@wLm LS)(HELD 1B FTERE TG LITGNEyE. T FoGleuafl
(b) anmisd 2 éirrﬁrjr.r;;asrr Cadlws ymsm
(€) sgiiydle s 3. s@mTr Cadlw Lymkisn
(d) &Cr_ @pHwen e~ 4 Ladlamd Gaflw ket

“(a) (b) (c) (d)

A 1 3 4 2
B) 4 2 1 3
© 3 1 2 4
D) 2 4 3 1
GS17 - ' 70
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IRV 2020 project is related to . -
(A) Wind energy project "+ _ (B) Solarenergy project
(C¥] Rhinoceros conservation project (D) (_:_’vanga River purification project

¢
*

IRV 2020 gl' b eraniig) @seylen Asmiyamwg -

(D) smhp s SULib @) @&Mwssd S b

(C)  eopCamméymen LTgETUY Ql'_l_l_b ‘(D) siens pd gnienwluBssid b

GM (Genetically modified) potatoes developed by British scientists is resistant to whmh
disease? -

(A)  Block dot : “ @7 Late blight

(C)  Pinkrot ' (D) Potato spindle tuber

ande oléeralsermd GM (ojuay wii G u:\rrg)gﬂwemma;&;uul_u) &@mm&ﬁ@rﬁ;@ Grib

Crmullenen erdli @D gjearsmmu_geml_.u_lg,ﬂ
(A Nerms Lm
(B) Gal lemer

(C) Yews ool

D)  emeens FALY sy (G TGLGLT e Gl6ig & 1Ly i)

Which are the countries participated in the Bilateral air exercise named “Garuda V’
conducted in Jodhpur, India? | -

&’ India and France (B India and Russia

(C) India and America (D} India and Singapore

" ApHwrelen Corsuyi pafld BLsslul L aa@ur &’ GTeniLd @S| GuTe @J@uuuﬁ]mﬁuﬁ]m Fe0HG

Csram_ HrEeT arenau?
(A)  @bdur epmid Gyreren _ (B) @méur Hoyd yeigwim
C) Gndun mﬁ)giLb @{@Lorﬂa'saarr « D) @‘L‘F;élu_lrr LDDQ{Lb sty

Graphene is used for manufacturing bendable smart phones What is the other field for
which it can be used? .

(A)  Medical Radiation therapy ; (B) Super lenses
(Cy  Quantum computers . P) Ultimate water purifier

DL &&&8nIq Ll GOLOMTL malGLAsamar g;u_lrnﬂuuﬁev o Gemn uwmu@gguu@aﬂmgj Cogib ig)
LueTuBHSSULIERILD g;emrp GT&I? -
(A)  wEsse sdielEs auedl Hasryamd B) &b eflevenevaer

+

l . (©)  @eurenH sanflafladr D) . =Gl B ssdafliiy srsend
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186. Which world heritage monument of India was affected in the storm of May 30, 20147
(A)  TajMahal ~ uyﬁ Humayun’s Tomb
(C)y  Tomb of Safdarjung (D) Sultan Raziya’s Tomb

G 30, 20146 gnulL e FHnssred Srestl L @;‘D.é,]urraﬂsh o @& Wysren BOTEETT Aairand

érgy?
(A)  sTm wane ’ (B) afwomyer G

(C) slgimd b (D) wevgren pFwr Fib

187. Which of the following disease is not caused by bacteria?
(Ay Malana (B) Cholera
(C) Tetanus @)} Dengue

Eipsarr_cueeudmar, aThs CHT LUTdefUTSsaTe 2 (Heursa LTS ?
(A)  wCeofwm ) J (B) sregm
(Cy QL Lemsv ' (D.) Gl_mi@

188. Which is/are correct concerning the Administrative Tribunals Act?
1. It was passed in the year 1985

2. The Act includes both the Central Administrative tribunals and the State
Administrative tribunals

(A) lonly (B) 2only

() Bothland? (D} Neither 1 nor 2

Rireurs Sriumubger #_L1b Qem_TLTs ergl/eraeu sMluiraenal?

1. =igr 198560 Quippiini’ L gy

2. sigwsHu Bieurs Sriumunbd wrfle Bfeurs Sruumub o Gpeama b o e _dduig;
(&)  lol@o B) 2w (o
(C) 1 opmid 2 gypélus @reirBibd o (DY 1ib e 2ib =ydien

183. Who decides whether A Bill is a Money Bill or not?
A)] Speaker A (B) The Finance Minister
(C) Finance Secretary (D) Leader of the Opposition

+

@ wGergrmeu Lewr WEETET TaTm (LPlg6 Qeiiaug wm?
(A)  sumBrLET “(B)  HE siemwast
(C) P Qeuiemrert ' . (D)  ehital 8s seneeuir
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190. Which of the following are/is stated in the Constitution of India?
1. “The President shall not be a member of either houses of Parliament -
2. The Parhament shall consist of the President and two houses
Choose the correct answer from the codes given below :

Codes : ‘
(A)  Neither 1 nor 2 ' @ Both1and2
() 1 alone . (D) 2 alone ‘

Spsam_eupmar yrdluwennliy &L gHld @b tud Hdrereney eraneu?

1. BlqLiEsd senaeu UM @hLenD Bl iensusefigb o mlnferyrs @) més wm i i

- 2: LITTEHLOETDLD GTemIZ) 5lq &S Seneaui RHID @)W Siemeusearu b ClsmawrL_gmELw.
Spaaim euflenguilen sflwimen eflenL_anui Cairey Qals: . ‘ ’
auflens : . -
@) @ranpdoma " &S ®)  @reimGid ‘
(C©) qamw @b : A (D)  @raw(® L Hbd

191. Who among the following became the Prime Minister of India without being earlier the
Chief Minister of a State? k ! . |

1. Moraji Desai
A Charan Singh
- 3. V.P. Singh
4. Chandra Sekar :
Select the correct answer from the codes given below :

Codes :
(A) 1,2and4 : j B) 1,2and3

(C). 2only » ) (]3? 4.0n1y

SpsaLeuisailey wir ﬂuémﬁﬁmémg (gp‘ainurres rhle (pgeeuisearTs u‘éﬁeﬁl mﬁé&ng@ﬁ&@?
1. Quomprell Caemi '

2. &ryeiar FIhl

3. a9, A

1 4.  spHrGesi ' 2

‘Bpaam_cupilé sflwirer eflen_enwi @g;ﬁgi;@é;@ :

auflens: .
(A) 1, 2mpmgb 4 ' (B) 1, 2wpmb 3
©) 2w b . : (D) 4wlfw
O | (1" g ‘ . . GS17
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192. 'The' Chairman of the Official Language Commission in 1955 wa's-
(A)  Gobind Ballah Pant
&) B.G. Kher ' - ' ‘
(C)  Dr. B.R. Ambedkar | '
D) Santhanam

1955 eégl,b it P HG MY yamamusslen semaeurmss I_I@UﬂU_IrTf_f)@lLiQ._lﬁ' : | ‘ \
(A Gamd@p urem Lrem_

(B) B.G. Gan

(©  réliBR. sbGusani

- (D) FHSHTEID

L}

193. The National Commission for reviewing the working of constitution was headed by
M.N. Venkatachalaiah was setup by the Central Government in

« 2000 . (B) . 2001
©. 2002 . - (D) "2003 .-

Sirdlwuemwlfer Qewdum L wneye Qeuughsrs M.N. Qetisrdsoamaur ganaamwuia

Cadl 4emenTuilD eSS L 4,607 (h
© (A 2000 - 7 - (B) 2001
(€ 2002 B (D). 2003

194. Which Article consist of the provision relating to composition and its power and functions of
the Election Commission of India? ) -

() -Article 324 - : (B) Article 356

(©  Article 370 L (D) Article 243

g e QbHw Caigd emammursslen cﬂmlmuq. siflaryd LD;'_[’)Q;Lb UewflEener o_erenL_&dlueTeng?
(A) o948 324 (B) <94 356 '

(C) 84 370 S ‘ (D) o4 243
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Which of the statements given below is/are correct?

1. The State Election Commission superwses and conducts the Election of Panchayats
and Munlclpahtles in the state _
2. It also supervises and conducts the Election of the State assemblies and the
_ Lok Sabha . .
(567 lonly (B) 2only.
(C):- land2 (D) * None of the above

£Cp Qan(ésiu L eupper erg) sAuner sifléams?
1. wrfle Csisd opamamu, wrblosdaees LehsTussy wHnb perm_flseflar Cargeane
BLggeugin, Cupunienauud (Heugib

2. wrfle FLLFmU wHHD Waseranal CoTsaasmar BLGgieugib, GopLrianeuusHeugib
(A) Ll (b . (B) Z2wl@o
© 1 LoFerij 2 ) (D) Cupea bl Grgfeq@éosmu

-

Considerlthe following statements ;

73 Amendment of the Constitution has provided constitution sanction for

1. building a 3 tier structure of Panchayat Raj
2. rese.rvation of seats for women _ )
3. withdrawal of the right of govts. to hold elections to the Panchayats _
4. taking away the right of State Governments to give grants to the P-anchayats
Whi;:h of these statements are corre.»ct?.
A 1and?2 v B) 1,2and 3"
"(C) 2,3and4 (D) 1and4

ereumid Fapmisanen SHSH0 Carars.

T3eugy sipflwe Hmss sl wCarsm Irfue@binGs Sletreu meuaeuHmiGE; eulfl auems QeligjeTeng)
1. LEsETWLSE T8l 3 DHES peper FHLBSHIcS) )

2 waatmaEsTer sefl @)L ps&s0H |

3. LgpamuGZHaTan GoiTgeane ‘LFJL_‘E)@H.D < Slamyd aq&nm&g@u&@gg &by @umuul_L_gj

4

NBle) D TFTRISRISET u@&rru_lg,gﬂp@ B auphigd o Mevw LflEsiu.L gl

@eupiler sfwurer sadm e1)1?

(A lwpmb2 . _ B) 1,2wpmwb3
€ 2, 3womwd 4 : D) 1 wppod 4
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197. In w,hich-year, the Lokpal Bill was not introduced in tlhe parliament?
&) 1968 , ' - B 1971
' (C) 1985 (15)7 1978
ECip i@;ﬂlﬂlﬁ]L@GﬁGﬁ‘ @ HEetar CarsLmd wEers abhg g flpalu@ssi Laﬁ]@mw?
@A) 1968 . (B) 1971 -
(C)y 1985 ' (D) 1978
198. Which of the following institlltions have been setup by Govt. of India to check miscor.lduct,
malpractices, corruption and misdemeanouy'on the part of public servants?
1. Central I‘\fisg,ilamce Commission
2. Lokpal | ‘
3. ' Spe(;ial Policg Establishment
4 Central Bureau of Investigétion '
Choose the correct answer by using the codes given below :
(A) ‘2 a;ld 3 o i ' (B) land4 :
- (C) 3and4 | | - .a{)’ 1,3and 4
- grsl vasafle weflyfGeurfler gauprar pLgms, cgei,ran rPILLLD Qau'_lg,ei)‘. seripen, eilE Bped
Gumenn  Le  geuprer QEULMSEEEETE QGBS ATETASD SpEsETL _Ghs  SewlLSmeT
FHLGSBuGTTE?
1 whBu yeamie) oD (ayeeanuib)
-2 Geomés Limed : L
3 FAmliy smeud glen
4w e geop
&Gy Qam@ésa;uuf_@drm @@ﬁ@&aﬂsﬁ]@ﬁ,g stlwres eflen_enwid GCoHTHEESMH.
(A) z@mgmé : B lopgh4
©C) 3vpmb4 D) 1,3 wpmw 4 ' : ]
GS17. .. o % o O
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Which one of the following action amounts to violence against women”

I Physical assault _

II. Creating hostile atmosphere at work/home

ITI. Teasing

IV. - Making humiliating/displeasing remark

(A) Tand]Il only (B) I, II and III only

¢f). 1,1 and IV only ' (D) 1L I and IV only |
&Qé}&;é&m. eThs Gawed waafleny G nSFIISDHE FLT6ng)? .
L o o ffwuns ey nissiais

1t Lenfliy iy @ /efi g G]e;ugyuurrm G e;rgpu@g,g;sug,j

1. Gl Qaaug

IV. sawrau@sgelg/@flars Cuseg

A) Tuopgd I ol @n ®) 1,11 wpmid I o1 Gid
(© LI womd IV ul@io g (D) IL 111 wpod IV wl @n

Which one of the following is/are wrongly matched?

(a) 21 Feb. 1947 1. Submission of the report by the Drafting
Committee to the Constituent Assembly
_(b) - 150ct. 1949 - 2 Acceptance of the proposal - of " the
. x Drafting Committee ’
(c) 26 Nov. 1950 iy 3. Members of the Constituent Assembly
! 2 appended their signature ’
(d) 24" Jan. 1950 -\ 4. The Constitution was adopted
(A) Both (a) and (c) are wrong . (B) Both (a) and (d) are wrong
© Both (b) and (c) are wrong L »0357 Both (¢) and (d) are wrong
Spssan crane/cranaugan &flLine @enemsst i _efdama?
{a) 21, Qiipeufl 1947 1. Sigflusenoliy - flirennus @@aﬂl_m © SiMdens
: . : FoMASSIUL L g :
(b) 15, aCGLmuir 1949 3. sflsans surfgs @ipelen a;@g@a;a;m FHmIS
' QamemerliLe mr _
“(e) 26, peubuir 1950 3. sirflueenoliy Hremus Gupeden :*J_Q]ulﬁlmrrasm
’ Siflsansude enslipsHlLmm
(d) 24, gemeufl 1950 - 4 @Sl blIY SPeuLILL L G|
(A)  (a) wpgd (c) geumy (B) (a) wpmid (d) peumy
©) . (b) wpgd (¢) saum D)  (c) wppd (d) seumy
y i (A , ’ GS17
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